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Question Number : 1 Question Id : 59445942216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. AMSTERDAM
2. AMERICA

3. AMAZON

4. ANTARCTICA
5. AUSTRALIA

Options :

1. #* 34125
2. % 13254
3.9 32145



4. % 43215

Question Number : 1 Question Id : 59445942216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T Xreal &1 39 o H A afRid I o 0 § 3 eI A N B

1. AMSTERDAM
2. AMERICA

3. AMAZON

4. ANTARCTICA
5. AUSTRALIA

Options :

1. # 34125
2. % 13254
3.9 32145
4. % 43215

Question Number : 2 Question Id : 59445942217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

EYR, FBT, GEV,
Options :

1. * ITHW

2. % HHX

3. % HIV

4. = IIX

Question Number : 2 Question Id : 59445942217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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EYR, FBT, GEV,
Options :

1. # THW

2. ¥ HHX

3. % HIV

4, % 1IX

Question Number : 3 Question Id : 59445942218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Paris

2. % New york
3. % Cairo

4. % Denmark

Question Number : 3 Question Id : 59445942218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt foeweal A @ & e R ai% @ THH 81 g1, T faeed 3/ diF ot aRE Tl ¢ | 39 fached &1 Iu- &% oY 310 ¥ 3T 5|
Options :

1. % U9

2. % ik

3. % DI

4. SIS

Question Number : 4 Question Id : 59445942219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ ALIMONY : YNOMILA
2. % ANCHOR : ROHCNA

3. ¥ ANALOGY : YGOLANA
4. ¥ ARMOUR : ROUMRA

Question Number : 4 Question Id : 59445942219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fawedl & @ & e g % T guM B gTifes, Th fAdhed 30 9 o1 a8 181 81 39 fadhed &1 T &3 S 310 T 3 g |
Options :

1. ¥ ALIMONY : YNOMILA

2. % ANCHOR : ROHCNA

3. ¥ ANALOGY : YGOLANA

4. ¥ ARMOUR : ROUMRA

Question Number : 5 Question Id : 59445942220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Airplane : Sky :: Cycle : ?
Options :

1. # Sea

2. ¥ Road

3. % Air

4. % Snow

Question Number : 5 Question Id : 59445942220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fasred &1 999 B S R Ue § I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
TATS OIS : SHTHIR :; ISfhd : 2

Options :
1. % 4
2.« AW
3. % 97
4. % fgH

Question Number : 6 Question Id : 59445942221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Spectacles : Glasses :: ?
Options :

1. ¥ Kite : Paper

2. # Ring : Wool

3. % Fork : Wax

4. % Car : Wood

Question Number : 6 Question Id : 59445942221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ Odi : IS

2. % 3NIAT: 3



3. % ®cT: ’F
4. % R AbSl

Question Number : 7 Question Id : 59445942222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if QUALITY is coded as RWDPNZF, what will TSUNAMI be coded as?
Options :

1. % UVXSFSP

2. % VUXRSFP

3. ¥ UUXRFSP

4. % UURXFPS

Question Number : 7 Question Id : 59445942222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U A Brs W H afd QUALITY Y RWDPNZF & =0 & $ifed fosdl 71 8, @ TSUNAMI & 8 shifsd far smam
Options :

1. # UVXSFSP

2. % VUXRSFP

3. % UUXRFSP

4. ¥ UURXFPS

Question Number : 8 Question Id : 59445942223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if FACEBOOK is coded as EZBDCPPL, then what will TELEGRAM be coded as?
Options :

1. ®* UFMFHSBN

2. ® UFMFFQZL

3. ¥ SDKDHSBN

4. % SDKDFQZL



Question Number : 8 Question Id : 59445942223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Af3d Pie T § 9fe FACEBOOK &) EZBDCPPL & %0 H HifSd forar 71 8, @ TELEGRAM &1 8 sifgd fabar Sram?
Options :

1. % UFMFHSBN

2. % UFMFFQZL

3. ¥ SDKDHSBN

4. % SDKDFQZL

Question Number : 9 Question Id : 59445942224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
XYZ Company has a job position opening. The candidate must

1. Be a graduate in any discipline with 80 per cent marks.

2. Be not less than 25 years of age and not more than 30 years of age as on 21/04/21.

3. Must have scored at least 75% in the selection test.

4. Must have a valid passport.

The following exceptions apply:

A. If a candidate meets all other criteria except 1, but is a post-graduate candidate, the case will be referred to the Director of the company.
B. A candidate whose age is more than 30 years but has experience of more than 3 years will be referred to the Vice President.

Subham is a Science graduate who passed in 2016 with 78% marks and has completed his MTech in 2018. His age according to his passport is 27
years. He has secured 80% in the selection test and he has completed his MTech in 2018.
What decision should be taken about this candidate?

Options :

1. # The candidate should be selected.

2. # The candidate should be rejected.

3. ¥ The candidate should be referred to the Director.

4. # The candidate should be referred to the Vice President.

Question Number : 9 Question Id : 59445942224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IR &1 994 fobar ST =g

2. % IuiCdR oI 3dipd B foar s anfeu|

3. ¢ JHIGAR Bl FER® B W id fobar ST =nfgu|
4, % ITCAR B JUTHE B! FafHd far ST anfeu|

Question Number : 10 Question Id : 59445942225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of more than twelve friends are sitting together on a merry go round facing away from the centre. Kamal is seating second to the left of
Rohan and Pradeep is sitting second to the left of Kamal. Exactly three children are sitting between Rohan and Saket. There are two children
sitting in between Saket and Tarun and exactly one child between Tarun and Umang. There are exactly five children seating between Umang and
Kamal. Find the number of children sitting between Kamal and Saket when seen from the right of Kamal. (Assume that all the seats have been
occupied by the friends and there is no other child sitting on the merry go round except for the given ones.)

Options :
1. % 8
2.¥5
3.%3



4. % 6

Question Number : 10 Question Id : 59445942225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %8

2.¥5

3.% 3

4. % 6

Question Number : 11 Question Id : 59445942226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement
is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statements.

Statement I: No cement is brick.
Statement II: All bricks are stones.
Statement I1I: Some stones are pebbles.

Conclusion: I) All cement being stones is a possibility.
IT) Some pebbles are brick.

Options :

1. ¥ Only I follows

2. % Only II follows

3. * Both I and II follows
4. # Neither I nor II follows



Question Number : 11 Question Id : 59445942226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ $HId | TR0 FRAT &

2. % HAd I1 3T HdT &

3. % [ 3R 11 GH SERUI &xd §

4. % 1SR TG 11 SR BT §

Question Number : 12 Question Id : 59445942227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement
1s true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statements.

Statement I: All frogs are toads.
Statement 1I: All toads are turtles.
Statement I1I: All turtles are snails.

Conclusion: I) All frogs are snails.
IT) Some turtles are frogs.

Options :

1. % Only I follows

2. % Only II follows

3. % Both I and II follows



4. % Neither [ nor II follows

Question Number : 12 Question Id : 59445942227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had [ SR Hal §

2. % HAd [1 IR B §

3. ¥ 1 3R 11 GIFT AR % §
4. % F1 3R TE I SR BT §

Question Number : 13 Question Id : 59445942228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series.

3,5,8,  ,13,15
Options :

1. %9

2.¥10

3. % 11

4. % 12

Question Number : 13 Question Id : 59445942228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferRad dven e d ud g 1d Hh1 |

3,5,8,  ,13,15
Options :

1. %9

2.¥10

3.% 11

4. % 12

Question Number : 14 Question Id : 59445942229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third number on the same basis as the second number is related to the first number.

6:150::13:7?
Options :
1. # 175
2. % 232
3. % 296
4. ¥ 325

Question Number : 14 Question Id : 59445942229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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6:150::13:7?
Options :
1. % 175
2. % 232
3. % 296




4. % 325

Question Number : 15 Question Id : 59445942230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between Scalene, Isosceles and Triangles?
Options :

Question Number : 15 Question Id : 59445942230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 16 Question Id : 59445942231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of students of a school who have opted for different subjects namely Accountancy, Economics,
Science and Commerce. How many of them have selected three subjects only?



Science

s
(D —

e

Commerce
Options :

1. #® 21
2. % 22
3. % 25
4.9 23

Question Number : 16 Question Id : 59445942231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear a1 3 SR faerTer & 3 BT Bt T-AT B Sidl & sl Rareu, e, A5 SR arforey o faftre fawat o1 g+ fear g1
378 O fha 3 Haa diF faval &1 == fear g2

Options :
1. % 21
2. % 22



3. %25
4.4 23

Question Number : 17 Question Id : 59445942232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the pair similar to the pair in the question figure.

Options :
=
1. % 1 -
s
2. % 1 I
L]
‘ L]
3 o ik I




m

ik

- [

Question Number : 17 Question Id : 59445942232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 18 Question Id : 59445942233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A set of six figures is given, the first of which is unnumbered and represents the beginning of the series. The series will be established if the
positions of two figures are interchanged. The number of the earlier of the two figures is the correct answer.

OO O A

Options :
1.¥2
2. % 1]
3.% 4
4. %3

Question Number : 18 Question Id : 59445942233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥2
2.% 1
3.% 4
4, % 3

Question Number : 19 Question Id : 59445942234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

/
L

Options :




Question Number : 19 Question Id : 59445942234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 20 Question Id : 59445942235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of squares in the given figure.



Options :
1. %5
2.% 3
3.¢¥7
4. % 4

Question Number : 20 Question Id : 59445942235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pfa 7 qrif B = 1 B

Options :
1. %5
2.% 3
3.7
4. % 4

General Awareness
Group Number : 2
Group Id : 594459898
Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 5944591623
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591889
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445942236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is well known for its Stepped Corridors, Sculptures and Stone Carvings in the Well.
Options :
1. * Red Fort
2. ¥ Rani-ki-vav
3. % Ajanta Caves

4. * Jantar Mantar

Question Number : 21 Question Id : 59445942236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qTd fobe

2. ¢ I B a1 g

3. % 3fSidT BTY

4. % G AR

Question Number : 22 Question Id : 59445942237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dehing Patkai festival celebrates the rich culture and heritage of
Options :

1. ¥ Assam

2. % Manipur

3. % Bihar

4. # Arunachal Pradesh

Question Number : 22 Question Id : 59445942237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SfeTT geaTs I & TP TPHid 3R foRrad &1 Ia AT g
Options :

1. ¢ 3{H

2. % OOQR

3. % f9gR

4. % BUTAS UK

Question Number : 23 Question Id : 59445942238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As announced in the Budget 2021, a gas pipeline project will be taken up in Union Territory of



Options :

1. % Pondicherry

2. # Ladakh

3. # Daman & Diu

4. ¥ Jammu & Kashmir

Question Number : 23 Question Id : 59445942238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Uigrert

2. % deld

3. % A 3R dl9

4.« S 3R HRAR

Question Number : 24 Question Id : 59445942239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sensex comprises of the largest and most actively traded stocks on Bombay Stock Exchange.
Options :

1. % 20

2.9 30

3. % 40

4. % 50

Question Number : 24 Question Id : 59445942239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IO | d93 Wi TS IR T 99 3R I Iishd U T HRITR B dTdl Tidp M & |

Options :




1. #® 20
2.9 30
3. % 40
4. % 50

Question Number : 25 Question Id : 59445942240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mussels belong to which of the following phylum?
Options :

1. ¥ Mollusca

2. # Arthropoda

3. # Aschelminthes

4. # Annelida

Question Number : 25 Question Id : 59445942240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tod Fafiiad o O fog ¥o 3 defea 32
Options :

1. ¥ HIen]

2. % GG

3. % T

4. % THferST

Question Number : 26 Question Id : 59445942241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to law, when an unpolarized light of known wavelength is incident on a transparent substance's surface, it experiences
maximum plane polarization at the angle of incidence whose tangent is the refractive index of the substance for the wavelength.
Options :

1. % Lenz's



2. * Joule's
3. % Murphy's
4. ¥ Brewster’s

Question Number : 26 Question Id : 59445942241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % o
2. % 9d
3. % Ry
4, & X

Question Number : 27 Question Id : 59445942242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The breeding, rearing, and transplantation of fish by artificial means is known as
Options :

1. ¥ Pisciculture

2. % Pomiculture

3. % Apiculture

4. % Arboriculture

Question Number : 27 Question Id : 59445942242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEH db! T TS & TS, UTer SR TfaRIgor & & T ST ST g |
Options :

1. ¢ Aguraq (ftdeeR)



2. % UgHeR
3. #% QYORAITe

4. % erdqeH

Question Number : 28 Question Id : 59445942243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Drakensberg mountain range is in which of the following continents?
Options :

1. # Europe

2. ¥ Africa

3. * North America

4. % Asia

Question Number : 28 Question Id : 59445942243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofafed & 3 forg deTgiu & SrRa-ar gdadTar fd 82
Options :

1. % QRIU

2. ¥ 3MPIbT

3. % IR 3HRBI

4. % RME

Question Number : 29 Question Id : 59445942244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kheda Satyagraha of , during the period of the British Raj, was a Satyagraha movement organised by Mohandas Karamchand
Gandhi.

Options :
1. % 1928
2. % 1924



3. % 1912
4.+ 1918

Question Number : 29 Question Id : 59445942244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafewr o o1 31afy &b R, BT W ST IARIE, HIg-IaN HHTG Mt §RT Maifold Idrig figie ol
Options :

1. % 1928

2. % 1924

3. % 1912

4.9 1918

Question Number : 30 Question Id : 59445942245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the founder of the Nalanda University?
Options :

1. ¥ Kumaragupta I

2. # Skandagupta

3. ¥ Chandragupta I

4. % Samudragupta

Question Number : 30 Question Id : 59445942245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofefed & 9 S el fayfaermea & g g2
Options :

1. ¥ FHARTE 1

2. % Ih-I[Wd

3. ¥ gl 1



4. % T

Question Number : 31 Question Id : 59445942246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who presided over the Lahore session of Indian National Congress in 1893?
Options :

1. # Ananda Mohan Bose

2. % Pherozeshah Mehta

3. % Surendranath Banerjee

4. ¥ Dadabhai Naoroji

Question Number : 31 Question Id : 59445942246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore 1893 H HRAT ST H1UY & RR SHTAAY BT Sfedard b1
Options :

1. % SHcHE a9

2. % fORRIGTRITE Agdll

3. % PGATY Sl

4. ¢ TIGTHTS ARSI

Question Number : 32 Question Id : 59445942247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The headquarters of International Atomic Energy Agency (IAEA) is located at

Options :
1. # Paris
2. ¥ Vienna
3. % Geneva
4. % London



Question Number : 32 Question Id : 59445942247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS URHTY] Sl BT BT AT H fyd gl

Options :

1. % Ry
2. ¢ fqgT
3. % foMar
4. % ded

Question Number : 33 Question Id : 59445942248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following movies won the ' MTV Movie & TV Awards 2021' for the 'Best Movie'?
Options :

1. % Soul

2. # Promising Young Woman

3. % To All the Boys: Always and Forever

4. # Judas and the Black Messiah

Question Number : 33 Question Id : 59445942248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead @ 9 forg e 7 9d9y gt o forg THdld! gdi U8 ot RedR 2021 Siar
Options :

1. % e

2. % QIR I ga

3. ¢ T 1A g dIG: 3cdel T8 BRUAR

4. % JSN U3 T i ARMATE




Question Number : 34 Question Id : 59445942249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Delhi Government announced to give Rs. each to all autorickshaw and taxi drivers facing the financial crisis in May 2021.
Options :

1. # 7000

2. % 6000

3. % 5000

4. % 4000

Question Number : 34 Question Id : 59445942249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feeelt TR A A 2021 H fa<ig Yhe HT A R Ig Tt SHTIRERT SR CRt Arera! & g TUY & 1 9y B g |
Options :

1. ® 7000

2. % 6000

3. % 5000

4. % 4000

Question Number : 35 Question Id : 59445942250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR = G0N B! g b o0 WDHR 3 Tl DI o FRI&T UG Bl ForgiA 14 A 2021 DY 30+ T1l- {1 b1 HIfdS-19 &
HRU W AT B

Options :

1. % HeRTY

2. ¢ faeit

3. % T §T
4. % AT

Question Number : 35 Question Id : 59445942250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

government has announced that the state government will be providing free education for the children who lost their parents to
COVID-19 on 14th May 2021.

Options :

1. ¥ Maharashtra
2. ¥ Delhi

3. ¥ West Bengal
4. % Tamil Nadu

Question Number : 36 Question Id : 59445942251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries will chair 13th BRICS summit in 2021?
Options :

1. ¥ India

2. % Brazil

3. # South Africa

4. # China

Question Number : 36 Question Id : 59445942251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofRed # ¥ &= 91 &= 2021 H 139 forad SHIeH o1 sregar
Options :

1. ¥ HRd

2. % wfere

3. % & 3Mpleh

4. % 94

Question Number : 37 Question Id : 59445942252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

56th Constitutional Amendment fixed the strength of the Goa Legislative Assembly at a minimum of members.
Options :

1. ¥ 40

2. % 45

3. % 35

4. % 30

Question Number : 37 Question Id : 59445942252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

569 TG T=MEH = TaT fTem THT B ST B gAdH Tl R Fyffed 1|
Options :

1. ¥ 40

2. % 45

3. % 35

4. % 30

Question Number : 38 Question Id : 59445942253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bill that deals exclusively with money matters that are mentioned in Article in Constitution is called a Money Bill.
Options :

1.+ 110

2. % 122

3. % 138

4. % 143

Question Number : 38 Question Id : 59445942253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 390 o faRiy &0 q 49 & Aval § Taifdd § off Sfau™ & srqwe o aftfa §, 39 o= fadas weTomar 3|



Options :
1.4 110
2. % 122
3. % 138
4. % 143

Question Number : 39 Question Id : 59445942254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has been named as the ODI cricketers of the decade 2010-2019, in the 2021 edition of Wisden Cricketers' Almanack?
Options :

1. # Joe Root

2. # Ben Stokes

3. ¥ Virat Kohli

4. # Rohit Sharma

Question Number : 39 Question Id : 59445942254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 3 {6 fass fhdhed SIEAT® o 2021 TRHRUTH, 2010-2019 ER& & ODI fohdhex| & &9 § 1 fovam a1 g2
Options :

1. ® SEC

2. % I LI

3. ¢ fave Digatl

4. % JAfga zHf

Question Number : 40 Question Id : 59445942255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

became the first Indian fighter to become Mixed Martial Artist (MMA) World Champion?
Options :
1. # Abhijit Das



2. % Arjan Singh Bhullar
3. % Abhay Singh Shirole
4. % Aashish Kumar

Question Number : 40 Question Id : 59445942255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s A enfée o e S99 aTdl g e URd ASTd a9

Options :
1. % 3ffHSiid g
2. ¢ 315 Rig Yeor
3. % 3y g RRRIA
4. % 3Y $AR
Arithmetic Ability
Group Number : 3
Group Id : 594459899
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 5944591624
Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5944591890
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59445942256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify:

108 +36 of (1/4) + (2/5) x (13/4)
Options :

1. ® 137/10

2.9 133/10

3. % 113/10

4. % 127/10

Question Number : 41 Question Id : 59445942256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRAPHd PR

(1/4) +(2/5) x (13/4) DPT 108 + 36
Options :

1. ® 137/10

2. ¥ 133/10

3. % 113/10

4. % 127/10

Question Number : 42 Question Id : 59445942257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What approximate value should come in the place of the question mark (?) in the following question?
[(1/24.89) x (99.89 + V624.89)] + V120.93 = ?

Options :
1. % 8
2. % 12
3.¥ 16
4. % 20

Question Number : 42 Question Id : 59445942257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad gy o wearee g (2) & RIM R AT [ 714 3T 91w
[(1/24.89) x (99.89 + V624.89)] + V120.93 = ?

Options :
1. %8
2. % 12
3. 16
4. % 20

Question Number : 43 Question Id : 59445942258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram's age 2 years from now will be double the average of Ram's current age and his age 10 years ago. What was Ram's age 4 years ago?
Options :

1. * 12 years

2. ¥ 8 years

3. % 5years

4. % 6 years

Question Number : 43 Question Id : 59445942258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3§ 2 T §I¢ IH 1 31, I B! G 3G 3R 10 TS Y4 SDT 3T & SAd I QT 81 ST | 4 T8 Jd A B 31 T 2
Options :

1. % 299

2.¢ 8 Y

3. % 599

4. % 69

Question Number : 44 Question Id : 59445942259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an exam, marks of student E increased by 45 Percent and then reduced by 40 Percent due to which final marks obtained by E were less than
the original marks by 52. How many marks were obtained by E?

Options :
1. ¥ 400
2. % 200
3. % 300
4. * 500

Question Number : 44 Question Id : 59445942259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh ORIATH, BT E & 3ol H 45 Ufa=1d &1 g g% 3R R 40 =1 1 Hft 8 b BRI E gRI UG 3ifaH 3feb 7 sfepl & 52 1 U
E gR1 fobdH 3idb U farg 11 29

Options :

1. ¢ 400

2. % 200

3. % 300

4. % 500

Question Number : 45 Question Id : 59445942260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In an election, 40% of the candidates who stand for election are women and 50 Percent of women are married. If 40 Percent of total candidates
are married and married male candidates are equal to 10,000, what is the total number of candidates standing for election?

Options :

1. ¥ 50000
2. % 25000
3. % 40000
4. % 30000

Question Number : 45 Question Id : 59445942260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH gA1G H, IH9 & TS g aral SHIGaR] J ¥ 40% AR § 3R 50 Ufa=rd Afgand faanfed €| afe $a Swieari # ¥ 40 wia=rd faarfed
g 3R faarfed 739 I™ieaR 10,000 % SRR &, Al T T Ws g aTa SHEAR] Bt Hol T &1 72

Options :

1. ¥ 50000

2. % 25000

3. % 40000

4. % 30000

Question Number : 46 Question Id : 59445942261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person sold an article at a loss of 17 Percent. Had he sold it for Rs. 87.29 more, he would have gained 12 Percent. At what price should he have
sold it to gain 25 Percent?

Options :

1. # Rs. 301

2. ¥ Rs. 376.25
3. % Rs. 358.23
4. % Rs. 332.01

Question Number : 46 Question Id : 59445942261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ueh Al = U q¥g ! 17 U= D1 BT W o411 I 39 3H 87.29 TUT H{¥eh T ST BIaT ol S 12 UleI=Id &1 oy giel| 25 Uier=rd ary
3{fSTd A o foIE 34 39 fordd Jod IR &9 91fR T UM

Options :

1. % 301 249
2.9 376.25%UU
3. % 358.23%UU¢
4. % 332.01®UC¢

Question Number : 47 Question Id : 59445942262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If an article 1s sold at 9/10th of its usual selling price, 20 Percent profit would be made on it. Find the profit percentage which would have been
made on it on selling it at its usual selling price.

Options :

1. # 25 Percent

2. % 33.33 Percent
3. % 30 Percent

4. #® 40 Percent

Question Number : 47 Question Id : 59445942262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e g 1 ISP A (56T Yo & 9/10d U TR 91 1Tl ©, Al 39 TR 20 UFA=Id ST A1 T | A foeh! Jed R o9 9, ST R e
Tl ATH UfARTd Jd B |

Options :

1. % 25 gfa=rd

2. ¢ 33.33 Ufa=rd
3. % 30 gfa=rd

4. % 40 gfaerd




Question Number : 48 Question Id : 59445942263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is to be divided among A, B, C, D in the ratio 6 : 8 : 3 : 4. If A gets Rs. 1500 more than C then find the difference of shares of A
& B.

Options :
1. # 950
2. % 990
3. % 1000
4. % 1100

Question Number : 48 Question Id : 59445942263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THARBIA, B,C,DH6:8:3:4F U & SicA1 g1 TG A BT, C T 1500 FUT HTYH e 8, A1 A 3R B & R &7 SiaR J1d |
Options :

1. % 950

2. % 990

3. % 1000

4. % 1100

Question Number : 49 Question Id : 59445942264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum is to be distributed among three brothers A, B, and C in the ratio 4 : 5 : 6. But by mistake it is distributed in the ratio (1/4) : (1/5) : (1/6). If
A gets Rs 7700 more due to this mistake. Find the total sum that was distributed.

Options :

1. ¥ Rs. 55500
2. % Rs. 50500
3. % Rs. 50050
4. % Rs. 55050



Question Number : 49 Question Id : 59445942264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH IR B AT UZAT A, B, IR CH4: 5 : 6% U H diel SIHT & | A TTacht 3 (1/4) : (1/5) : (1/6) & U H die fGa1 g |
& 3 T & HRUT A BT 7700 ¥UT Y ferd g | faaid o1 18 Fa i 71 B

Options :

1. ¢ 55500 ¥UY

2. % 50500 ¥UY

3. % 50050 ¥UT

4. % 55050 ¥UY

Question Number : 50 Question Id : 59445942265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest on a certain sum of money for 2 years is Rs. 4944. If the rate of interest per annum is 15 times of time (in years). Find the
compound interest on the same amount of money at the same time, at the same rate.

Options :

1. # Rs. 4658.5
2. % Rs.4585.9
3. ¥ Rs. 5685.6
4. ® Rs. 5674.6

Question Number : 50 Question Id : 59445942265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT emRIRT TR 2 9 T RN SIS 4944 FUU € | TfS Ufd I8 ST 1 &R THT 6T 15 7T (@1 H) § | T THT TR A X R
UM RN TR Ahqfeg; TS Tl DY |

Options :

1. ® 4658.5 ¥UQ

2. % 4585.9 ¥UQ

3. ¢ 5685.6 BT

4. ® 5674.6 3UQ




Question Number : 51 Question Id : 59445942266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain principal was invested for three years at R Percent per annum simple interest and for the subsequent four years at 2R Percent per annum
simple interest. It amounted to Rs.600 at the end of three years and Rs.880 at the end of seven years. Find the principal invested.

Options :

1. ¥ Rs. 495
2. % Rs. 505
3. # Rs. 485
4. % Rs. 480

Question Number : 51 Question Id : 59445942266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A qaes &1 diF aui o forg Ufd a8 R U= o ATUR0T &7 IR 3R 916 & IR au| o forg Ufd a9 2R UfIRId & AR TS IR
fyaer farar mar 41| g i 9w & 3fd B 600 TUT 3R A1 oy & 3fd H 880 FUT 47| ARG Haeq J1d &1 |

Options :

1. ¥ 495300
2. % 505%4Uq
3. % 485%UU0
4, % 480Ul

Question Number : 52 Question Id : 59445942267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains are running on parallel lines in the same direction at speeds of 80 km/h and 65 km/h respectively. The faster train crosses a man in the
slower train in 72 second. If the length of the faster train is 3/4th of the slower train, find the length of the slower train.

Options :

1. ¥ 400 m
2. % 580 m
3. % 250 m



4. % 320 m

Question Number : 52 Question Id : 59445942267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I XISl Uap g1 = & THMTAR Xamsil IR SHRT: 80 km/h 3R 65 km/h BT 717 I T X561 § | ot 71Tl aTelt Yerme! efie T1fq arett Yermet &
9% U Afdd Bl 72 b B UR Halt ¢ | TS A1 IHTTS! ot dars i) Yermet & 3/4 g, o et YermS) ot dars 31d B |

Options :

1. ¥ 400 m

2. % 580m

3. % 250m

4. % 320 m

Question Number : 53 Question Id : 59445942268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravi went to Rishikesh, for river rafting. He rows at the rate of 16km/h in still water. It takes him thrice as long to row up as to row down the
river. Find the rate of flow of the river.

Options :

1. # 22 km/h
2. ¥ 8 km/h
3. ®* 4km/h
4. % 16 km/h

Question Number : 53 Question Id : 59445942268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fa 7t it o forg BiNEH= a7 o7l 98 RR 9@ H 16kmvh 1 71T I 719 IATdl ¢ | S TAT8 BT 3R $1 a1 § HaTe & Uiagpd J <= A1
3 T AT 8 | 74T o UaT8 1 & 1d P |

Options :

1. # 22 km/h

2. % 8 km/h




3. ®* 4km/h
4. % 16 km/h

Question Number : 54 Question Id : 59445942269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chinky, Pinky and Tinky together can eat 240 chocolates in eight hours. In one hour Pinky can eat as many more chocolates than Tinky as Tinky
can eat more than Chinky. Chinky can eat as many chocolates in three hours as Pinky can eat in two hours. What is the number of chocolates that
Pinky can eat in five hours?

Options :
1. ® 40
2. % 50
3.¥ 60
4. % 80

Question Number : 54 Question Id : 59445942269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefapt, fiapt iR e e 3118 6 H 240 didae W IHd § | U b H et i) o) ga & ifie dleaic W1 T § 99 &t iiat flwt
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o

Options :

1. * 40

2. % 50

3. ¥ 60

4. % 80

Question Number : 55 Question Id : 59445942270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ram and Shyam can complete a work in 20 and 25 days respectively, after working for 8 days together Shyam gets an injury, so he could work

only with 50 Percent of his efficiency. Find the number of days taken by them to complete the whole work if they both worked together till the
end of the work.



Options :
1. % 8
2. %10
3.9 12
4. % 14

Question Number : 55 Question Id : 59445942270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3R T UH B B HH: 20 3R 25 T H R HR Tavd 8, 8 el b 1Y HH B & 9IG WH & dic o offd! 6, U 98 ST
G&IdT & had 50 TR & W1 HTH HR Gdhdl ¢ | G d G B & 3fd ddb U 1Y HTH B &, ) 0 B I R B H 3% gRI
fere e famt ot <Ream F1a HI |

Options :

1. % 8

2. % 10

3.9 12

4. % 14

Question Number : 56 Question Id : 59445942271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the square of the product of three sides of the triangle is 900 units and the area of its circumcircle is 9n, what is the area of the given triangle?
Options :

1. ¥ 2.5 square units

2. ® 5 square units

3. * 107 square units

4. % 2.51 square units

Question Number : 56 Question Id : 59445942271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e By &t i WSS & UHEE &1 a1 900 IHTs & 3R THDH URTT (RBHTDT) BT 8% 97 ], 1 13T T Y &1 &% d a1 82



Options :

1.¥ 2.5 3B
2. % 5T TP
3. % [0n T 3BT
4. % 257 T 3PTS

Question Number : 57 Question Id : 59445942272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many bricks each measuring 35 cm x 12.5 cm x 6 cm will be needed to construct a wall 9 m long, 7 m high and 32.5 cm thick?
Options :

1. *® 7600

2. #® 6800

3. % 7800

4. % 8700

Question Number : 57 Question Id : 59445942272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 m?‘iﬁﬂ, 7 mG);_tﬂGﬁ?ﬂ.S cmﬁmﬂm%m% cmx 12.5¢ecmx 6 cmﬁ%‘tﬁ_‘éﬂaﬁwm?
Options :

1. % 7600

2. % 6800

3. ¥ 7800

4. % 8700

Question Number : 58 Question Id : 59445942273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie chart shows the distribution of expenses (in percentages) of a family during 2016. Total income of the family in 2016 is Rs.
50000.

What will be the average of total income spent by the family on Clothes and Education?



Distribution of expenses

Options :

1. # Rs. 8500
2. ® Rs. 9750
3. # Rs. 8650
4. ¥ Rs. 8750

Question Number : 58 Question Id : 59445942273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 8500 >UUQ
2. % 9750 ¥UY
3. ¥ 8650 20U
4. ¥ 8750 %0Q

Question Number : 59 Question Id : 59445942274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows revenues in rupees lakhs from selling four different products (P, Q, R, and S) by a certain company. Study the diagram and
answer the following question.

If the cost of producing and selling the four products was Rs. 50 lakhs each year in 2019 and 2020 then what is the cumulative profit (in Rs.
Lakhs) earned in the years 2019 and 2020?



H 2019 = 2020

s0 32

Revenue {inlakhs)

Options :
1. % 112
2.¥ 102
3. % 122
4. % 132

Question Number : 59 Question Id : 59445942274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 112
2.¥ 102
3. % 122
4. % 132

Question Number : 60 Question Id : 59445942275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line chart given below shows profit percentage of a shopkeeper in 6 consecutive years. Profit % = [(Revenue - Expenditure)/Expenditure] x
100

If the expenditure in year 2013 is Rs. 1600, then what is the revenue (in Rs) in that year?

L

20 4 8
13 - 12

1a
10

Profit (in Percentage)

2012 2013 2019 2015 2016 FLo

Year

Options :



1. % 1200
2. % 1800
3. % 2000
4. % 2400

Question Number : 60 Question Id : 59445942275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1200

2. % 1800

3. % 2000

4. % 2400
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Question Number : 61 Question Id : 59445942276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

He was not very cared for as a child,/ and he has the chip on his shoulder/ about his upbringing.
Options :

1. * He was not very cared for as a child,

2. ¥ and he has the chip on his shoulder

3. * about his upbringing.

4. % No error

Question Number : 61 Question Id : 59445942276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

He was not very cared for as a child,/ and he has the chip on his shoulder/ about his upbringing.
Options :

1. # He was not very cared for as a child,

2. ¥ and he has the chip on his shoulder

3. % about his upbringing.

4. % No error

Question Number : 62 Question Id : 59445942277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It does not obey the law of conservation/ of mass for the reactants and products/ have different compositions of elements.
Options :

1. # It does not obey the law of conservation

2. ¥ of mass for the reactants and products

3. # have different compositions of elements.

4, % No error

Question Number : 62 Question Id : 59445942277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It does not obey the law of conservation/ of mass for the reactants and products/ have different compositions of elements.
Options :

1. # It does not obey the law of conservation



2. % of mass for the reactants and products
3. # have different compositions of elements.
4. % No error

Question Number : 63 Question Id : 59445942278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The sheer number of people gathered to watch the show has) exceeded everyone's expectations.
Options :

1. ® The sheer number of people gathered to watch the show have

2. % The shear number of people gathered to watch the show have

3. ® The shear number of people gathered to watch the show has

4. ¥ No correction required

Question Number : 63 Question Id : 59445942278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The sheer number of people gathered to watch the show has) exceeded everyone's expectations.
Options :

1. # The sheer number of people gathered to watch the show have

2. # The shear number of people gathered to watch the show have

3. # The shear number of people gathered to watch the show has

4. ¥ No correction required

Question Number : 64 Question Id : 59445942279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

We (have to dispose off this pile of old papers) and magazines.
Options :

1. ¥ have to dispose of this pile of old papers

2. % have to dispose this pile of old papers

3. # have to dispose this pile off old papers

4. # No correction required

Question Number : 64 Question Id : 59445942279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

We (have to dispose off this pile of old papers) and magazines.
Options :

1. ¥ have to dispose of this pile of old papers

2. # have to dispose this pile of old papers

3. # have to dispose this pile off old papers

4. ® No correction required

Question Number : 65 Question Id : 59445942280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Their continued existence as a class after the Exile would be a perpetual reminder of the dangers and degradation of the most
popular Syrian creed.

Options :

1. # sentinel
2. # evangel
3. % pasture



4. ¥ pariah

Question Number : 65 Question Id : 59445942280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Their continued existence as a class after the Exile would be a perpetual reminder of the dangers and degradation of the most
popular Syrian creed.

Options :

1. # sentinel
2. % evangel
3. #® pasture
4. ¥ pariah

Question Number : 66 Question Id : 59445942281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

There were at least three different footprints but they were and nearly indistinguishable.

Options :

1. # unpaired
2. # chartered
3. % marred

4. % uncluttered

Question Number : 66 Question Id : 59445942281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

There were at least three different footprints but they were and nearly indistinguishable.

Options :



1. # unpaired
2. ® chartered
3. % marred

4. % uncluttered

Question Number : 67 Question Id : 59445942282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

During Earth’s long history, there probably have been several Pangea-like supercontinents.

P. Africa has begun to collide with southern Europe, and the Australian Plate is now colliding with Southeast Asia.

Q. Present-day plate motions are bringing the continents together once again.

R. Another Pangea-like supercontinent, Pannotia, was assembled 600 million years ago, at the end of the Precambrian.

S. The oldest of those supercontinents is called Rodinia and was formed during Precambrian time some one billion years ago.

Within the next 250 million years, Africa and the Americas will merge with Eurasia to form a supercontinent that approaches Pangean
proportions.

Options :

1. # PSQR
2. % RSPQ
3. ¥ SRQP
4. ¥ SQRP

Question Number : 67 Question Id : 59445942282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.



During Earth’s long history, there probably have been several Pangea-like supercontinents.

P. Africa has begun to collide with southern Europe, and the Australian Plate is now colliding with Southeast Asia.

Q. Present-day plate motions are bringing the continents together once again.

R. Another Pangea-like supercontinent, Pannotia, was assembled 600 million years ago, at the end of the Precambrian.

S. The oldest of those supercontinents is called Rodinia and was formed during Precambrian time some one billion years ago.

Within the next 250 million years, Africa and the Americas will merge with Eurasia to form a supercontinent that approaches Pangean
proportions.

Options :

1. ¥ PSQR
2. % RSPQ
3. % SRQP
4. % SQRP

Question Number : 68 Question Id : 59445942283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Ignominious
Options :

1. ¥ Undignified
2. % Humiliating
3. ¥ Glorious

4. % Abject

Question Number : 68 Question Id : 59445942283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below



Ignominious
Options :

1. ¥ Undignified
2. % Humiliating
3. ¥ Glorious

4. % Abject

Question Number : 69 Question Id : 59445942284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Bedlam
Options :

1. % Mayhem
2. % Tranquil
3. % Turbulence

4. % Pandemonium

Question Number : 69 Question Id : 59445942284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Bedlam
Options :

1. # Mayhem
2. ¥ Tranquil
3. % Turbulence

4. % Pandemonium

Question Number : 70 Question Id : 59445942285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Clientele

2. # Clientel

3. % Clientle

4. % (Cleintle

Question Number : 70 Question Id : 59445942285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Clientele

2. % Clientel

3. # Clientle

4. # Cleintle

Question Number : 71 Question Id : 59445942286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Decietful

2. # Decitfull

3. # Deceitfull

4. ¥ Deceitful

Question Number : 71 Question Id : 59445942286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options :

1. #® Decietful
2. # Decitfull
3. # Deceitfull
4. ¥ Deceitful

Question Number : 72 Question Id : 59445942287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

The Bigger They Are The Harder They Fall
Options :

1. # Something someone would say during a long and boring story in order to keep his/her audience from losing attention. Usually the story isn't
shortened.

2. # After no success the first two times, the third try is a lucky one.
3. ¥ When one small burden after another creates an unbearable situation, the last straw is the last small burden that one can take.

4. ¥ While the bigger and stronger opponent might be a lot more difficult to beat, when you do they suffer a much bigger loss.

Question Number : 72 Question Id : 59445942287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

The Bigger They Are The Harder They Fall
Options :

1. ® Something someone would say during a long and boring story in order to keep his/her audience from losing attention. Usually the story isn't
shortened.

2. % After no success the first two times, the third try is a lucky one.
3. ¥ When one small burden after another creates an unbearable situation, the last straw is the last small burden that one can take.

4. ¥ While the bigger and stronger opponent might be a lot more difficult to beat, when you do they suffer a much bigger loss.

Question Number : 73 Question Id : 59445942288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Variety Is The Spice Of Life

Options :

1. ® A diversion away from something of greater importance.

2. # Anything from the past that isn't significant or important anymore.
3. # To openly and freely express your emotions.

4. ¥ The more experiences you try the more exciting life can be.

Question Number : 73 Question Id : 59445942288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Variety Is The Spice Of Life

Options :

1. #® A diversion away from something of greater importance.

2. % Anything from the past that isn't significant or important anymore.
3. # To openly and freely express your emotions.

4. ¥ The more experiences you try the more exciting life can be.

Question Number : 74 Question Id : 59445942289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Ideas or beliefs that people are born again with a different body after death
Options :

1. ¢ Reincarnation

2. % Connotation

3. # Hypothesis



4. % Credo

Question Number : 74 Question Id : 59445942289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Ideas or beliefs that people are born again with a different body after death
Options :

1. ¥ Reincarnation

2. % Connotation

3. # Hypothesis

4, % Credo

Question Number : 75 Question Id : 59445942290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Harsh discordant mixture of sounds
Options :

1. # Dowdy

2. % Cacophony

3. # Obloquy

4. % Scorn

Question Number : 75 Question Id : 59445942290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Harsh discordant mixture of sounds
Options :



1. * Dowdy
2. ¥ Cacophony

3. % Obloquy

4. * Scorn

Sub-Section Number : 2
Sub-Section Id : 5944591892
Question Shuffling Allowed : Yes

Question Id : 59445942291 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Soon after Navi got engaged to Roberto, she began learning about his seemingly magical origins.

She had heard many stories of Roberto’s birth city of Guanajuato, and they had all captivated her. She was spellbound by the many exotic tales he
told her about the region. At one time, this colonial city was the source of two-thirds of the world’s silver.

“Our family goes to a beautiful church in Guanajuato,” Roberto had told her while they courted in the United States. “It is said that silver dust
was mixed into the cement building blocks and that is why the church sparkles.”

Navi had been enthralled. Roberto always told such wonderful stories. She could not wait to see the city and meet all of Roberto’s family. Navi
was excited and knew that the trip was sure to be inspirational.

While Roberto had imparted to Navi all the wonders of his beautiful city, it had not occurred to him to mention any dangers. They were young.
They were in love. They lived only in the moment.

Navi was speechless when she saw the Oratorio de San Felipe. “It really does sparkle!” she exclaimed.

Navi kissed Roberto on the cheek. “I’ll meet you outside,” she said, leaving the church.

She pulled her sketchpad and pencils from her bag and went to sit against one of the glorious palm trees outside the church. She began sketching
the colossal cupola, which extended mightily, three stories above the nave.

Suddenly, a sharp pain took hold of her left shoulder. It felt like an electrical shock. The pain began to pervade the rest of her body.

She had been stung by a scorpion!

The last thing Navi remembered was Roberto kneeling by her side. She woke up a week later with him holding her hand and telling her a story.
“In Mexico, scorpions are ubiquitous. There are more scorpion deaths here than in any other place in the world. And they love palm trees,” he
said, rubbing her hand with tears of relief in his eyes. “I should have mentioned that before.”

Sub questions

Question Number : 76 Question Id : 59445942292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which city did Roberto belong to?
Options :

1. ¥ Guanajuato

2. ® Guadalajara

3. ® Puebla

4. ® Oaxaca

Question Number : 77 Question Id : 59445942293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the church which according to the passage sparkles?
Options :

1. # Templo de Santo Domingo

2. % Parroquia de la Santa Cruz

3. ¥ Oratorio de San Felipe

4. ® Iglesia Catdlica en México

Question Number : 78 Question Id : 59445942294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, where was Navi bit by the scorpion?

Options :

1. ¥ Outside Oratorio de San Felipe under a palm tree

2. % Qutside the hospital against one of the glorious palm trees

3. # Qutside the church in United States against one of the glorious palm trees

4. ® Qutside Roberto's house under glorious palm trees

Question Number : 79 Question Id : 59445942295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following options is incorrect? Choose one option.
Options :

1. ® Guanajuato was once the world's source of two thirds silver.



2. # Navi had been stung by a scorpion outside the church under a palm tree.
3. % It is believed that silver dust was mixed into the cement building blocks for Iglesia Catdlica en México to sparkle.

4. ¥ Navi was sketching when she was bit by a scorpion.

Question Number : 80 Question Id : 59445942296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which danger in the line "While Roberto had imparted to Navi all the wonders of his beautiful city, it had not occurred to him to mention any
dangers." is being talked about that we later see in the passage?

Options :

1. # Oceanic hazards in the city of Guanajuato
2. % Natural weather hazards

3. ¥ Deaths by scorpion stings

4. % Violence against tourists

Question Id : 59445942291 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Soon after Navi got engaged to Roberto, she began learning about his seemingly magical origins.

She had heard many stories of Roberto’s birth city of Guanajuato, and they had all captivated her. She was spellbound by the many exotic tales he
told her about the region. At one time, this colonial city was the source of two-thirds of the world’s silver.

“Our family goes to a beautiful church in Guanajuato,” Roberto had told her while they courted in the United States. “It is said that silver dust
was mixed into the cement building blocks and that is why the church sparkles.”

Navi had been enthralled. Roberto always told such wonderful stories. She could not wait to see the city and meet all of Roberto’s family. Navi
was excited and knew that the trip was sure to be inspirational.

While Roberto had imparted to Navi all the wonders of his beautiful city, it had not occurred to him to mention any dangers. They were young.
They were in love. They lived only in the moment.

Navi was speechless when she saw the Oratorio de San Felipe. “It really does sparkle!” she exclaimed.

Navi kissed Roberto on the cheek. “I’ll meet you outside,” she said, leaving the church.

She pulled her sketchpad and pencils from her bag and went to sit against one of the glorious palm trees outside the church. She began sketching
the colossal cupola, which extended mightily, three stories above the nave.

Suddenly, a sharp pain took hold of her left shoulder. It felt like an electrical shock. The pain began to pervade the rest of her body.

She had been stung by a scorpion!



The last thing Navi remembered was Roberto kneeling by her side. She woke up a week later with him holding her hand and telling her a story.
“In Mexico, scorpions are ubiquitous. There are more scorpion deaths here than in any other place in the world. And they love palm trees,” he
said, rubbing her hand with tears of relief in his eyes. “I should have mentioned that before.”

Sub questions

Question Number : 76 Question Id : 59445942292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which city did Roberto belong to?
Options :

1. ¥ Guanajuato

2. # Guadalajara

3. * Puebla

4. % Qaxaca

Question Number : 77 Question Id : 59445942293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the church which according to the passage sparkles?
Options :

1. # Templo de Santo Domingo

2. # Parroquia de la Santa Cruz

3. % Oratorio de San Felipe

4. # Iglesia Catolica en México

Question Number : 78 Question Id : 59445942294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, where was Navi bit by the scorpion?
Options :

1. ¥ Outside Oratorio de San Felipe under a palm tree

2. # Outside the hospital against one of the glorious palm trees

3. % Outside the church in United States against one of the glorious palm trees



4. ® Qutside Roberto's house under glorious palm trees

Question Number : 79 Question Id : 59445942295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options is incorrect? Choose one option.

Options :

1. ¥ Guanajuato was once the world's source of two thirds silver.

2. % Navi had been stung by a scorpion outside the church under a palm tree.

3. ¥ It is believed that silver dust was mixed into the cement building blocks for Iglesia Catélica en México to sparkle.

4. ® Navi was sketching when she was bit by a scorpion.

Question Number : 80 Question Id : 59445942296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which danger in the line "While Roberto had imparted to Navi all the wonders of his beautiful city, it had not occurred to him to mention any
dangers." is being talked about that we later see in the passage?

Options :

1. # Oceanic hazards in the city of Guanajuato
2. # Natural weather hazards

3. ¥ Deaths by scorpion stings

4. % Violence against tourists
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Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591893
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 59445942297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & Q 34 fadhey &1 9u 3 off AU U Y - fowde Wsg & Il IfY &1 fasweu 3 |
g + Uy

Options :

1. % gEyd
2.« TYd
3. % qaygd
4. % TRl

Question Number : 81 Question Id : 59445942297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fashey &1 9u= &3 o fou U Y - fowde s & Il I 1 fasheu 3 |



Tt + Uy
Options :

1. % guygd

2. TYd
3. % Ty

4. % ggedf

Question Number : 82 Question Id : 59445942298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & q 39 fared &1 9 o3 off feT 7T TfY Tisg & Tel IfY - fo=dg 1 faweu 7|
RISIRCS

Options :

1. % 7 + 3B
2. % A+ 3D
3. % T+ AfYH
4. (A + AYH

Question Number : 82 Question Id : 59445942298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdshey &1 9a 3 off fou U I Weg & el IfY - fosg 1 fdweu 3 |
BIGIRES

Options :

1. % T0d + 3MYH
2. % Td+ 3
3. % Ta+ 3w
4.« Id + 3AYH




Question Number : 83 Question Id : 59445942299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faeal & T 39 fahed &1 709 o3 ol Y& g WiferT U &1 ! f[aheu g |
Options :

1. = AHH

2. ¢ fgdt

3. % Y

4. % deldl

Question Number : 83 Question Id : 59445942299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faeal & T 39 fdshed &1 909 o3 ol Y& g WiferT U &1 gt faheu g |
Options :

1. % 3{Y

2. ¢ fgdt

3.% 7Y

4. % dJgldl

Question Number : 84 Question Id : 59445942300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & I 39 fawed BT 9g9 &3 ol ' 3 ST U & e BT e [dhed § |
Options :

1. % 3Fd

2. % AN

3. % 3y

4.« 3{THH

Question Number : 84 Question Id : 59445942300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

79 fasredl # O 39 fadwed o7 T &3 o+ 3 ST I T Weg BT el fAwveu 7 |
Options :

1. % 3fHd

2. % AN

3. % 3FY

4. ¢ M

Question Number : 85 Question Id : 59445942301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o O 39 faded &1 9= &< Sl 3T T4 wH s e Wee & 3 &1 9gl fawed ©
SIS - 31

Options :

1.« HIdT ol
2. % AT SR
3. % 9Id, HIdT
4, % dg old

Question Number : 85 Question Id : 59445942301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl # O 39 fadey o7 Tg & o 3T U gaya e wsg & o &1 9el fawe 8

S - 3
Options :

1. ¢ 9T 5 d
2. % Al & IR
3. % S, A
4. % g8




Question Number : 86 Question Id : 59445942302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 famedl & 9 39 fadmed &1 9a &< ol 3T T Weg - TH & 31 T gl [dwed § |
i--get

Options :

1. % g7q 3!
2. % gg g9

3. % Yare, gfadH
4. ¢ 18 gfeum

Question Number : 86 Question Id : 59445942302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 997 &< Sl faU U Xeq - G & 37 &1 Jg! fddhed 5|
fer--gelt

Options :

1. ® g, 3fHAT
2. % gIg gd@

3. % Hare, gfadH
4. ¥ U gl GAM

Question Number : 87 Question Id : 59445942303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 34 fdshey &1 98 3 off AT TTU Rre & a1 U &1 98t fawea 7 |

I
Options :




1.«
2. % HIg
3. ® 3BT
4. % g3

Question Number : 87 Question Id : 59445942303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fashed &1 999 &3 off iU T8 Tsg & sHaTdf & U o1 vl faweu 7 |

I
Options :
1.« @i
2. % Hdd
3. % 3D
4, % Y&l

Question Number : 88 Question Id : 59445942304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashey &1 9u &3 o AT 7T areiey & fofe U eg &1 U8l fdweu 3 |
T Gage &R faar gl --

Options :

1. % gdgWd
2. % egfaqfe
3. ¢ FAgRI
4. % SUERI

Question Number : 88 Question Id : 59445942304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 ol & @ 39 fdshey &1 9u &3 off AT T areiey & fofe U eg &1 I8! fdweu 3 |
forgerT 9agp® B foran T 8l --

Options :

1. % FagEd
2. % ggfagfd
3. ¢ WAGRI
4. % SUERI

Question Number : 89 Question Id : 59445942305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & Q 39 fdshed &1 98- B3 off faU U 910 & TR & U &1 et fabed 7 |
Y Tfd P AT HERT P MBI & |

Options :

1. ¢ O dIs]

2. % ZWIUG I
3. % foy are

4. % IgId qIR

Question Number : 89 Question Id : 59445942305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshey &1 987 &3 o faU U 9100 & PR & U &1 et fabed 7 |
Y 7T & AN BT P NPT |

Options :

1. % IR dIH

2. % e AT
3. % fhg g

4. % IgId IR



Question Number : 90 Question Id : 59445942306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshey &1 9= &3 o faU U 9190 & Uel & 9 o1 el fabeu 7 |
FH fHdT 3T SR S BT 7 |

Options :

1. % RUYdH
2. % YA Thded
3. ¢ gAgay®
4. % IIIIAD

Question Number : 90 Question Id : 59445942306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fasrey &1 999 o3 o faU 78 a19g & Uel & N &1 98! fdhed g |
FHT fhaT 33T SR SoT X1 g |

Options :

1. % RYIdH
2. % YIIfd T
3. ¢ gIAgay®
4. % INIYAD

Question Number : 91 Question Id : 59445942307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fadedl & J 39 fawed &1 99 &3 off f3U 78 a9 & gii & Ue &1 Ie! fadweu g |

NNESERESHIENY




Options :

1. ® Jpard
2. % Jagrd
3. % Fgand
4. ¢ faegd

Question Number : 91 Question Id : 59445942307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fadwed &1 99 &3 off iU 78 a9 & gii & Ug &1 Je! fadweu g |

ORI JHY 13U
Options :

1. % Gard

2. % g

3. % fand

4. faemd

Question Number : 92 Question Id : 59445942308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl # 9 39 fawed o1 Tg &< il iU 70 gerar & et 3 &1 faweu 7 |
O3 T -

Options :

1. % EHR Y BT

2. JURI BTH 3T

3. % UM

4. % ST

Question Number : 92 Question Id : 59445942308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 faemedl # 9 39 fadwed o1 Tg &< il iU 70 gerar & et o &1 faweu 7 |
HA AT -

Options :

1. % 3EHR Y GHI

2. ¢ JUTG HTH 37T

3. % UM

4, % ST

Question Number : 93 Question Id : 59445942309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fdsey &1 989 B3 off faU U Aieifaa & gl srf w1 faweu g |

3fer i g |Te
Options :

1. # 3Ugd dhAT

2. % T HId g Ub S
3. ¢ HHU Bl WU Bl
4. % YAT ST

Question Number : 93 Question Id : 59445942309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdchey &1 9= &3 o fou T Aieifad & Tgl sif w1 faweu g |
3T iy g @Te

Options :

1. % 3Ugd hAl

2. % TTQTdl DR G Ub el
3. ¥ HHN DTS QT HTs




4, ® YIS

Question Number : 94 Question Id : 59445942310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fawey &1 99 o3 o AT T Aipifad & gt o &1 fabed 7 |
®16 DI 8ol R IR 78] Tt

Options :

1. ¢ 93 9R -9R T8 gad

2. % JR1eft Safaq goRT wRiferd YgdT 8
3. % 3NST AfFT Fg farar Hrar @

4. % MU N &1 a1

Question Number : 94 Question Id : 59445942310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fdehey &1 9u= B3 off faU U Aieifda & gl srf w1 faweu 7 |
P13 1 BTe! IR -R eI Igdl

Options :

1. ¢ 93 IR -9R T8 gad

2. % el ufdd gH=m URifPHd IgdT @
3. % ST Afed Yed fearar w1 g

4. % UM Y &1 G

Question Number : 95 Question Id : 59445942311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 39 fadwed o1 Tg & o T8 fov fug god ared &1 fased g |
Options :

1. % S qaf A Ppar g, PRI ot 31 Hiadl 98 dred) TR s Aiftie @




2. % 3T gUIH HeT |, "FRIET ST &1 Hidar 98 drsd! IR Je! AfH® § |"
3. % Sf guf A per g, FRTe off &1 Biadl 98 disd TR sl Ade g |
4. ¢ 1 g A B g, PRI ot B Hidar g8 dred) TR gt Jiftie g |

Question Number : 95 Question Id : 59445942311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl o 9 39 fdded &1 99- &< Sl 95! fav g o a1 &1 f[Adhed g |
Options :

1. % BT 991 9 ®el 5, "FARIa off ot Hiadr a8 drsd ueRr st Ui &

2. % BT Ui A HeT |, "RIE S 1 Higar a8 drsd) R gt A1fde g |

3. % Bf qa A Hgr 7, FARran oft &t wfadr a8 disd TR g8t Aifife 3 |

4. 1. qAf A FHe1 7, "FRIH Sit Bt Hadr 98 drsdt TR Sot A E § |

Sub-Section Number : 2
Sub-Section Id : 5944591894
Question Shuffling Allowed : Yes

Question Id : 59445942312 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

2 fou 7 eI @ earydes Ue 3R U Y et o1 wataH SR I |

arioTe UiRfRufaT ud enfiies SIfayRT o wRUT faare & eMe fagd w0 +t yaferd R €1 374 a1a-faarg, 9g-faare, eiiH faarg,

3 faaTe Sfe UY 81 &0 | OFF o 4 Ud 3yl 9gd Bict 31g H dsdh-asidhd] dI [da1g HR-1 S1a-19a1g & | HRd H Ty fqarg st
1 810 § | BT 31 =P J S1er-faare SrR1Y 7

TSI o 318 T & ¥R 3 it U 5=l & f9a1g 81 & o] 377 ATal-fudT 3ot e & I3ThR [3a18-IRGR Td dR1d 5|
fegafl 7 U8 U qug & § fooeg U &1 =1 a1 AHadT & Ufd foR1Y ¥ 4 el 8| §1d faare ufany sififaad-2006 & d8d 2 a9 a6 &
HSR HRIGN Td JHA &7 TG B, Pis [l STd-1AaTe BT TUH B, T BRI, Tenferd B a1 fbr goifkd &¥m a ag off o &1
YIiGR IV, 919 b foh 9% T8 A1fad 9 IR ¢ fob 34D I Ay - BT HRUI AT [ 98 faarg arar-faare a! o1, S8 dgd &l ay &
HER HRIANY BI ol BT YU §. STH Th ARG $UY b BT AT o T S Tl 5.

Sub questions




Question Number : 96 Question Id : 59445942313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faaTe & faPd U @7 & RN HRUIG ?
Options :

1. % HIdT U gR1 9 fohd 9 & BRI

2. % 3RS faarg

3. % 3{Ad 3y

4. ¢ HiHep Siefayral Td AT TRiRUfaar

Question Number : 97 Question Id : 59445942314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o H 31 off T Sl & faarg 8id & ol 39 Aral-fUdr Suet 7iig H 3T faaTe- IR T7d FRId & | 98 Ay e S Edi g 2
Options :

1. % 907 Goe

2.« 3f&rg qdrar

3. % §g gt

4. % PHIGRI GO

Question Number : 98 Question Id : 59445942315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T91-f3aTe & ufavy & R e I From ang fra T e 2
Options :

1. ¥ 2 Y b & HOR BRIAY T FHI PI

2. % %0 qY & & HOR HRIAN UG SH I

3. % 1594 dP & HoR HRIAN Ud A B

4. % 99 TP &b HOR HRIAN Td JHMH BT

Question Number : 99 Question Id : 59445942316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

75 fashed o ¥ 314 91 g 'Ufase &1 Giard Weg T8l & 2
Options :

1. % faRo

2. % HAGH

3. % @sq

4. fafg

Question Number : 100 Question Id : 59445942317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTase o fod I N il |
Options :

1. % q1d -fadrg

2. % §Td-faarg o Ufauy & fof S
3. ¢ §1d fadT8 Teh IH1fSIh SIRTY

4. % 91 - [3d18 & JHS WR THTG

Question Id : 59445942312 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

) feu U e Y earYdes Ug SR U MY Ut T gataH SR I |

T URfRufad ud enfiies SIfayT o ®RUT faare & oM fagd w0 +t yafed ) €1 374 a1a-fdarg, 9g-faare, HeiiH faarg,
AT faaTg 3Mfe T 81 T U § | ST o I Ud 31dl 9gd Bic! 3T H ded-as o d! & [da1g H-1 a1d-1da18 g | HRd § U faarg 3ol
1t g1 €| T 1 2 J S1a-faaTg SRy g |

RO H 3T JTT o SaeR 3§ i TY 5= & f9a1g Bid & fSHd! 377 AT 31Ut e H I3Ta fadTe SR W0d HRd & |
fergar o I8 TP Yua &1 § fovw I8 H1 SR 9UT AFadT & Ul SORTY I HH 61 ¢ | 919 [9a1g ufaue ffad-2006 & d8d 2 a9 0@ &
HOR HRIANT Td A BT UGU . BIs [hdl 9101-fadTe &) Hua B, TUF SR, JaTferd S a1 bR geIid 3 ot a8 Io &
YNGR SR S1d b b 98 I8 HIfed 7 dR ¢ b 3D U [ayRI 3 &1 HRUT 4T [ a8 fdarg ara-faare =gl o1, $9% dgd &l as &
HER HRIA B Tl BT WG §. TTH U ARG $UT qh BT AT +7 T S Tebell 3.

Sub questions




Question Number : 96 Question Id : 59445942313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3aTE & faPd ¥U G8 & RMTHRUTG 2
Options :

1. % 911 fUdl gR1 Y fohd O & BRI

2. % SRy faarg

3. % 30 31

4. ¢ YTfticp Sfefayral Ts QoI aRIRfaaT

Question Number : 97 Question Id : 59445942314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI 7 3rd Ht T8 5=t & 318 81 © fSap! 377 ATdI-furdT it i H I3 f[AaT8-TpR Ivd #1d & | 98 Ay s dtgdi g 2
Options :

1. % A7 Ut

2.« 3f&rg qdiar

3. % g gfom

4. % PRI YoM

Question Number : 98 Question Id : 59445942315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

91a-faarg & Uiy & foe s 9 Frem arpfea me g 2
Options :

1. ¥ 298 d% & HAR HRIAN Td JHH BT

2. % Q0 qY I & HOR HRIAN UG JH Bl

3. % 159 & HOR HRIAN UG SH B

4. % 3qY AP P HAR HRIAN Td A BT

Question Number : 99 Question Id : 59445942316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

oy fdeper § Q 1 1 Tsg Ul ‘1 yafgar Teg eI @ 2
Options :

1. % fqarur

2. % TRl

3. % g

4. ¢ fafd

Question Number : 100 Question Id : 59445942317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTase o fad Ifad N il |
Options :

1. % §7 -faarg

2. % §rd-fqarg & Ufauy & fog S
3. ¢ §Td] fdaTg Teh AT SURTY

4. % 919 - faarg & THN R Y4E

Disciplinel
Group Number : 6
Group Id : 594459902
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Disciplinel

Section Id : 5944591627
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591895
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 59445942318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Jati of a raga consisting of six notes?
Options :

1. ®# Odav

2. ¥ Shadav

3. ® Sampurn

4. # Odav -Sampurn

Question Number : 101 Question Id : 59445942318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
36 R Y g AT D AT T 82
Options :

1. % 3fied

2. ¥ Hl&d

3. % ol

4. % 3frsq-guyuf



Question Number : 102 Question Id
Orientation : Vertical

: 59445942319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
There are shrutis in one octave.

Options :
1. ¥ 22
2. % 12
3.% 7
4. % 8

Question Number : 102 Question Id
Orientation : Vertical

: 59445942319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

T b & gl gt & |
Options :

1. ¥ 22

2. % 12

3.% 7

4. % 8

Question Number : 103 Question Id
Orientation : Vertical

: 59445942320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
How many notes are there in a raga of Sampurn -Shadav Jati?

Options :

1. # seven-five
2. ¥ seven-six
3. % geven-seven

4. # gsix-seven

Question Number : 103 Question Id

: 59445942320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Tquf.NTeq Sfd & I H fbda TR 8la 82
Options :

1. % grd-u=

2. ¥ {ld-9%

3. % {id-4did

4, % So-did

Question Number : 104 Question Id : 59445942321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many Varnas are used in Music?
Options :

1.¥4

2.%5

3.% 6

4. % 3

Question Number : 104 Question Id : 59445942321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tritd & fara quif o1 T g 32
Options :

1.¥ 4

2.%5

3.%6

4. %3

Question Number : 105 Question Id : 59445942322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the given swaras is known as Adhvadarshak swara?
Options :

1. # Shadaj

2. % Pancham

3. % Madhyam

4. % Gandhar

Question Number : 105 Question Id : 59445942322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferg 7Y Rt H @ e WR Y Siedaxior TR & AT I S I 52
Options :

1. ® Ygol

2. % UgH

3. ¥ HYH

4. % MYR

Question Number : 106 Question Id : 59445942323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which factor plays a important role in deciding samay of the raga?
Options :

1. % Thata of the raga

2. % Vadi of the raga

3. # Jati of the raga

4. % Rasa of the raga

Question Number : 106 Question Id : 59445942323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI T g I HT 0T 0 B H Agaqu] YfHent AT g2




Options :

1. % X[ DT YIS
2. ¢ AT HI ATl
3. % IMT I Sl
4, % MDY

Question Number : 107 Question Id : 59445942324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is Not used in the Dhrupad Gayan?
Options :

1. # Gamak

2. % Meend

3. % Tana

4. ¥ Khench

Question Number : 107 Question Id : 59445942324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ue Mg § for faded o1 wan =gt fean man g2
Options :

1. # T[HD

2. % Hivg

3.9 dMHl

4. % @Y

Question Number : 108 Question Id : 59445942325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Veda is important in view of Music?
Options :



1. ¥ Samaveda
2. # Rigveda

3. % Yajurvada
4. # Atharvaveda

Question Number : 108 Question Id : 59445942325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Giiid @ 2fP ¥ B9 91 98 Hgayul 82
Options :

1. ¥ GHdG

2. % PTG

3. % Agde

4, % 3Yddq

Question Number : 109 Question Id : 59445942326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who defined the term 'Deshi Sangeet' ?
Options :

1. % Vyankatmakhi

2. # Narad

3. ¥ Matang

4. ¥ Ahobal

Question Number : 109 Question Id : 59445942326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘2t Frfie 2sg b1 fbem TR fobam?

Options :

1. % Apcgyl



2. % 9R¢
3.« {4

4. % 3@IEd

Question Number : 110 Question Id : 59445942327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sarana Chatushtayi is about
Options :

1. * Rag Vargikaran
2. % Shruti Vibhajan
3. ¥ Samay Nirdharan
4. % Tal Paddhati

Question Number : 110 Question Id : 59445942327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RO =gt FIRTFRI
Options :

1. % I FABRUT

2. ¢ gfd fquTeH

3. % guyg YRR

4. % T UG

Question Number : 111 Question Id : 59445942328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the given Treatise is the oldest?
Options :

1. ¥ Brihaddeshi

2. % Sangeet Ratnakar



3. % Rag Tarangini
4. # Sangeet Parijat

Question Number : 111 Question Id : 59445942328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7T Ut & ¥ D19 Ja QR 82
Options :

L. ¥ geel

2. % Tgid YA

3. % AT RA

4. % Gifid ORelrd

Question Number : 112 Question Id : 59445942329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following forms did Tansen sing?
Options :

1. % Khayal

2. % Tappa

3. % Thumri

4. ¥ Dhrupad

Question Number : 112 Question Id : 59445942329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad # @ o 91 =0 a3 = e
Options :

1. ® W97

2. % Tl

3. % gt




4. ¥ YUg

Question Number : 113 Question Id : 59445942330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the given options is Not a Jati lakshan?
Options :

1. % Graha

2. % Nyasa

3. ¥ Vadi

4. % Mandra

Question Number : 113 Question Id : 59445942330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferw T fardredt o A IF-9T S &0 e 3
Options :

1. % Jg

2. % O

3. drdl

4. % TH

Question Number : 114 Question Id : 59445942331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ancient scholars assumed Shadaj on shruti.
Options :

1. # First

2. % Second

3. % Third

4. ¥ Fourth



Question Number : 114 Question Id : 59445942331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PIEIEIEEEIE] YT R TS D Hed T B |
Options :

1. % ggait

2. % QI

3. % drd

4.« et

Question Number : 115 Question Id : 59445942332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Swasthan niyam is related to

Options :

1. ¥ Alaap

2. % Tala

3. % Samay Nirdharan
4. # Shruti Vibhajan

Question Number : 115 Question Id : 59445942332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W Y Hefd B
Options :

1. ¢ 3HlcllU

2. % dId

3. % 9y FyRo

4. % gffq fayTe



Question Number : 116 Question Id : 59445942333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following instruments belongs to Ramayan Period?
Options :

1. # Tabla

2. % Sitar

3. % Santoor

4. % Dundubhi

Question Number : 116 Question Id : 59445942333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed & 9 o 91 e IHRI a9 Jefed 82
Options :

1. % ddcil

2. % fJdR

3. % IR

4. ¢ Gy

Question Number : 117 Question Id : 59445942334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which nawab gave encouragement to Thumri?
Options :

1. % Asafuddoula

2. % Vajid Ali Shah

3. # Vazeer Khan

4. ¥ Mohammad Shah

Question Number : 117 Question Id : 59445942334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

for Fare 7 gFl &) Uredre faam

Options :

1. % TGE
2. ¢ gIfviG 3cll XM
3. % ok T

4. % TEWIG M8

Question Number : 118 Question Id : 59445942335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What do you understand by the term 'Melapak'?
Options :

1. # Anga of Prabandh

2. # Type of Prabandh

3. % Dhatu of Prabandh

4. # Tala of Prabandh

Question Number : 118 Question Id : 59445942335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AU e Y 37U FT T g ?
Options :

1. % g ol 37T

2. % UdY BT UBR

3. ¢ UdY &I YT

4. % YqY DI drel

Question Number : 119 Question Id : 59445942336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



To which emperor's court did Tansen belong?
Options :

1. % Aurangzeb

2. # Shah Jahan

3. ¥ Humayun

4. ¥ Akbar

Question Number : 119 Question Id : 59445942336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A fohd UTE & GRER I Heiferd 27
Options :

1. % 3TN

2. % G W&l

3. % gAY

4, ¢ HPhNR

Question Number : 120 Question Id : 59445942337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is a famous composer from 18th century?
Options :

1. # Baiju Nayak

2. # Gopal Nayak

3. ¥ Sadarang

4. ¥ Ramrang

Question Number : 120 Question Id : 59445942337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
18 QT & URIG TR DI 82

Options :



1. % oo T®H
2. % MUTA AR

3. ¢ T
4. % AT
Discipline2
Group Number : 7
Group Id : 594459903
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 5944591628
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591896
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 59445942338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. ¥ Birud

2. % Udgrah

3. % Dhruv

4. ¥ Abhog

Question Number : 121 Question Id : 59445942338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faH &1 = B |

Options :

1. ¢ fovg

2. % 3alle

3. % ¢Yqd

4. % 3R

Question Number : 122 Question Id : 59445942339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a renowned musician from the 13th century?
Options :

1. # Tansen

2. % Mansing Tomar

3. ¥ Gopal Nayak

4. ¥ Haddu Khan

Question Number : 122 Question Id : 59445942339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafaa & @ o 139 2! &1 ufig Iiftaer 82
Options :

1. % gHaq

2. % gHERIE MR

3. ¢ TUTd A&

4, % ggg @M

Question Number : 123 Question Id : 59445942340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was Tansen's Guru?

Options :

1. ¥ Goswami Tulasidas

2. % Swami Ramdas

3. % Swami Haridas

4. % Swami Surdas

Question Number : 123 Question Id : 59445942340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A & T DI A2

Options :

1. ® ATl Jodterd

2. % IWHI A

3. ¢ Wil gRa™

4. % W YRa™

Question Number : 124 Question Id : 59445942341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the given ragas is sung in the afternoon?



Options :

1. # Kedar

2. % Sarang
3. % Malkauns

4. % Marava

Question Number : 124 Question Id : 59445942341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 71T T & F B IH FT I QR H TR SI1l 82
Options :

1. % $aR

2. ¢ ARA

3. % AIADI

4. % ORAl

Question Number : 125 Question Id : 59445942342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Bhupali is played in to Madhyam Gram, which raga will be obtained ?
Options :

1. % Malkauns

2. #® Sarang

3. ¥ Mand

4. ¥ Pahadi

Question Number : 125 Question Id : 59445942342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe T IT § UTc SSI STl 8, o I 91 I U7 R 2

Options :




1. % OIADpI
2. % ORI
3. % His

4. ¥ UgTS!

Question Number : 126 Question Id : 59445942343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given ragas is a Sandhiprakash raga?
Options :

1. # Hindol

2. % Jaunpuri

3. ¥ Kalingada

4. % Todi

Question Number : 126 Question Id : 59445942343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U T AT & 9 DI A1 Wi ThT=I AT B2
Options :

1. % fgsia

2. % SFQR

3. ¢ BTG

4. % qral

Question Number : 127 Question Id : 59445942344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lavani is a folk style from

Options :
1. # Rajasthan



2. % Maharashtra
3. % Punjab
4. # Gujarat

Question Number : 127 Question Id : 59445942344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

arauft @ Al Aol g
Options :

1. # SR

2. ¥ HeRTY

3. % U

4. % TGRId

Question Number : 128 Question Id : 59445942345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option is a Devotional Music form?
Options :

1. # Dadara

2. ¥ Qawwali

3. # Kajari

4. # Chaiti

Question Number : 128 Question Id : 59445942345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P 1 faded Hida Tifid &1 = U g2
Options :

1. % qlaxl

2. ¢ BTl




3. % HoR]
4. % 3t

Question Number : 129 Question Id : 59445942346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which instrument is commonly used to accompany Baul geet?
Options :

1. # Tabla

2. # Srangi

3. % Shankh

4. ¥ Ektara

Question Number : 129 Question Id : 59445942346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I3 T & T FHI: [ aTel o1 WaRT b S &2
Options :

1. % ddcl

2. % IR

3. % 39

4, ¢ UhdRI

Question Number : 130 Question Id : 59445942347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Mand' is a folk style from

Options :

1. # Kashmir

2. % Gujarat

3. ¥ Rajsthan



4, % Assam

Question Number : 130 Question Id : 59445942347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T @1 di A B
Options :

1. ® HYAR

2. % IRId

3. % SIRYTH

4. % 3HYH

Question Number : 131 Question Id : 59445942348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the given ragas is found in folk music?
Options :

1. # Bageshri

2. % Madhuvanti

3. % Bihag

4. ¥ Gara

Question Number : 131 Question Id : 59445942348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& 7T T F Y DI 1 AT WA Tl H U i 82

Options :

1. % g
2. % TYddl
3. % fagnT

4. ¢ TIRT



Question Number : 132 Question Id : 59445942349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ga, Dha, Ni are the indicators of Thata.
Options :

1. ¥ Asavari

2. # Purvi

3. # Marava

4. % Bhairavi

Question Number : 132 Question Id : 59445942349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ty, YT & Hbad g |
Options :

1. ¢ JMIaR]

2. % gdf

3. % HRAI

4. % Rl

Question Number : 133 Question Id : 59445942350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who created a new type of Todi Raga?
Options :

1. % Naimat Khan

2. % Faiyaz Khan

3. % Bilas khan

4. # Bhupat Khan

Question Number : 133 Question Id : 59445942350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T T TUUBR & dIS! IR BT AT D12
Options :

1. % U @r

2. % BTl @l

3. ¢ faag @

4. % yud i

Question Number : 134 Question Id : 59445942351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given ragas has a characteristic of Andolit Svaras?
Options :

1. % Des

2. % Tilang

3. ¥ Hameer

4. ¥ Darabari Kanada

Question Number : 134 Question Id : 59445942351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T T & 9 foad sffeiferd i &1 fadie g2
Options :

1. % Q9

2. ® fa

3. % gHR

4. ¥ RARXI BTGl

Question Number : 135 Question Id : 59445942352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which Raga has similar notes as in raga Todi?
Options :

1. # Pilu

2. % Tilang

3. % Multani

4, % Asavari

Question Number : 135 Question Id : 59445942352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e I AT IS oI FHA TR g2
Options :

1. % Ui

2. % foefm

3. gadml

4. % 3R

Question Number : 136 Question Id : 59445942353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which notes are omitted in Malkauns?
Options :

1. # Madhyam-Nishad

2. # Gandhar - Pancham

3. # Reshabh- Dhaivat

4. ¥ Rishabh- Pancham

Question Number : 136 Question Id : 59445942353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EN . _ C A
OISR & DI ¥ TR a9 62




Options :

1. % gegy-fAurg
2. % YR - U9H
3. % BYY- gad
4. ¢ FYY- 499

Question Number : 137 Question Id : 59445942354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given ragas is related to a particular season?
Options :

1. ¥ Miya Malhar

2. % Miya ki Sarang

3. ¥ Miya ki Todi

4. % Adana

Question Number : 137 Question Id : 59445942354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few g <l & | 1 2T fafry A @ Teifia 3
Options :

1. ¢ T AegR

2. % TPl ot aR

3. % T ol dret

4. % gl

Question Number : 138 Question Id : 59445942355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which raga will be formed if Komal Nishad in Bheempalas is replaced by Shudh Nishad?
Options :



1. # Multani

2. ¥ Patdeep

3. % Madhuvanti
4. # Bihag

Question Number : 138 Question Id : 59445942355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg Hrauarht & siod fure &1 g g gR1 ufaafid fasar Se dt 19 91 0§
Options :

1. % AT

2. ¥ 42U

3. % gYdal

4. % fogm

Question Number : 139 Question Id : 59445942356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which musical form was used to propagate Buddhist philosophy?
Options :

1. # Sama

2. % Jati

3. % Dhruva

4. % Gatha

Question Number : 139 Question Id : 59445942356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS G BT VAR B & [T DY TAUeR BT YT foar T/ o1
Options :

1. % 9H




2. % Sfd

3. % g
4. T

Question Number : 140 Question Id : 59445942357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who influenced ancient Chinese music?
Options :

1. ¥ Confucius

2. % Dingxiang

3. ¥ Chang

4. % Huang

Question Number : 140 Question Id : 59445942357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g U= i1 Titd 1 uHTfad foeam

Options :

1. ¢ SR
2. # f&fsiim

3. % 9
4. % gaIM
Discipline3
Group Number : 8
Group Id : 594459904
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 5944591629

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944591897

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 59445942358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amir Khusro belonged to the century.
Options :

1. * 16th

2. % 10th

3. ¥ 13th

4. = 15th

Question Number : 141 Question Id : 59445942358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3R G BEAKR]
Options :
1. % 16df
2. % 10df
3. ¢ 139
4. % 159)

Question Number : 142 Question Id : 59445942359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gagaku is an ancient music form of
Options :

1. # Korea

2. % China

3. % Iran

4. ¥ Japan

Question Number : 142 Question Id : 59445942359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR &1 U Tifid PR &
Options :

1. % pifar

2. % T

3. % 3H

4. % U

Question Number : 143 Question Id : 59445942360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which instrument is associated with Lord Shiva?



Options :

1. # Venu

2. % Mridanga
3. ¥ Damaru
4. % Manjira

Question Number : 143 Question Id : 59445942360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% BT U Iiftd UhR g
Options :

1. % 9U]

2. % T

3. ¥ SH¥

4. % ORI

Question Number : 144 Question Id : 59445942361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which ancient form was related to drama?
Options :

1. ¥ Dhruva

2. # Dhrupad

3. # Nirgeet

4. # Kapal

Question Number : 144 Question Id : 59445942361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T U Td UbR e I Asierd U1

Options :



&Gl
2. % gUq
3. % fffa
4. % HUA

Question Number : 145 Question Id : 59445942362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To which music tradtion 'Magam' belongs?
Options :

1. # Western

2. ¥ Arabic

3. % Chinese

4. % Indain

Question Number : 145 Question Id : 59445942362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T forg Wit URORT ¥ Heifdd &2
Options :

1. % Oy

2. ¢ 3Rl

3. % G

4. % YR

Question Number : 146 Question Id : 59445942363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many gramas were discribed in ancient Indian music?
Options :

1. % 1



2. %2
3.¢3
4. % 4

Question Number : 146 Question Id : 59445942363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui W Sita o forae o o1 qoie fovan T g2
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 147 Question Id : 59445942364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which branch of music education needs the knowledge of anotomy?
Options :

1. * Acoustics

2. % Aesthetics

3. % Criticism

4. ¥ Voice culture

Question Number : 147 Question Id : 59445942364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

it e o) g wmar o) AR 39 & I B ST 82
Options :

1. % gfyep!

2. # U



3, % 3Tl
4. ¢ AR R

Question Number : 148 Question Id : 59445942365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the quality of distinguished sounds of musical instruments known as?
Options :

1. # Pitch

2. % Resonance

3. ¥ Timbre

4. * Joudness

Question Number : 148 Question Id : 59445942365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are Tt ot ARy eaf~al 3 o7 3 Fa Fed 7
Options :

1. # dRd

2. % IS

3. ¢ femR

4. % @R DA

Question Number : 149 Question Id : 59445942366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ragamala paintings are based on

Options :

1. % Raga Jati

2. % Raga Chalan
3. ¥ Raga Dhyana



4. ¥ Raga Prakriti

Question Number : 149 Question Id : 59445942366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RRIEIGIREEEAR] TR STYTRA § |
Options :

1. % TSI

2. % AT

3. ¥ AT YA

4. % AT Uhid

Question Number : 150 Question Id : 59445942367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which classification system is based on mathematics?
Options :

1. % Gram Rag vargikaran

2. % Ragang

3. ¥ Mela

4. ® Rag -Ragini

Question Number : 150 Question Id : 59445942367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T} grifepor gurre! ToTd R et g2
Options :

1. % YIERAT ai{ehRul

2. % AR

3.¢ 0d

4. % AT




Question Number : 151 Question Id : 59445942368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which vocal form is Not used for Kathak?
Options :

1. ® Thumri

2. % Dhamar

3. % Tarana

4. ¥ Tappa

Question Number : 151 Question Id : 59445942368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg MAUBR BT TN YD b g g1 fasar STl g2
Options :

1. ® W

2. % YHR

3. % ORIl

4. cU]

Question Number : 152 Question Id : 59445942369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which branch of science plays a major role in manufacturing Musical instruments?
Options :

1. ¥ Acoustics

2. % Magnetism

3. % Electricity

4. % Light

Question Number : 152 Question Id : 59445942369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fasm &1 o <t < Wit arerds & Fufor & g YT fuwd g2
Options :

1. ¢ @Dl

2. % FEDHA

3. % fagyd

4. % YhIR[

Question Number : 153 Question Id : 59445942370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the given music forms, poetry has a great importance?
Options :

1. # Tarana

2. ® Saragam geet

3. ¥ Gazal

4. ® Khayal

Question Number : 153 Question Id : 59445942370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu mu MaueRl 7 @ fead sfaar o1 srafis Aga 82
Options :

1. % [l

2. % JH Ui

3. ¥ ISl

4. % 9gy[cl

Question Number : 154 Question Id : 59445942371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If the frequency of Madhya Shadaj is 240 Hz, what will be the frequency of Madhya Pancham?
Options :

1. # 320

2. % 480

3. % 120

4. % 360

Question Number : 154 Question Id : 59445942371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e AT WG BT ST 240 Hz 7, I Aed GH $1 1gfy o1 grfle
Options :

1. % 320

2. % 480

3. % 120

4. % 360

Question Number : 155 Question Id : 59445942372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which scale is commonly found in Asian countries?
Options :

1. ¥ Pentatonic

2. % Hexatonic

3. * Heptatonic

4. % Chromatic

Question Number : 155 Question Id : 59445942372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS 20 H AR TR I JT WUTH U SI1dT 82




Options :

1. ¢ e
2. % gaICI-dH
3. % QOIS
4. % PHHlCH

Question Number : 156 Question Id : 59445942373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Through the spread of which religion, Indian music was propagated in Asian continent?
Options :

1. % Islam

2. % Buddhism

3. # Jainism

4. # Christianity

Question Number : 156 Question Id : 59445942373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg o & TR 9, TRETS HeTaid # YR STid &1 TR gafr
Options :

1. # &IH

2. ¢ §iG U

3. % S

4. % 3978 4

Question Number : 157 Question Id : 59445942374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country has musical instruments made up of stones?
Options :



1. # Japan
2. % China
3. # Korea

4. * Indonesia

Question Number : 157 Question Id : 59445942374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ford =1 ORI ¥ S ARy 67

Options :

1. # S4iq

2. ¢ T

3. % Bl

4. % SSHRMA

Question Number : 158 Question Id : 59445942375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gamelan orchestra is a traditional music of

Options :

1. ¥ Indonesia
2. % Japan

3. % Sri Lanka
4. % Nepal

Question Number : 158 Question Id : 59445942375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T i H1 URUNSG Fid ]
Options :

1. ¢ SSMR[A




2. % SO
3. % dicidr
4. % U

Question Number : 159 Question Id : 59445942376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which concept in Indian Music is similar to Magam in Arabic music ?
Options :

1. # Tala

2. % Shruti

3. ¥ Raga

4. % Prabandh

Question Number : 159 Question Id : 59445942376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Sd & DI AT YR e Wiitd T Hvd & IHH g7
Options :

1. % dldd

2. % yfd

3. ¥R

4. % gy

Question Number : 160 Question Id : 59445942377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which raga from Indian music is found in the music of many Asian countries?
Options :

1. ¥ Bhupali

2. % Kedar



3. = Kafi
4. % Malhar

Question Number : 160 Question Id : 59445942377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T o1 I T AT B YRS <20 & I & U STl 82

Options :

1. ¢ YuTal

2. % PHaAR

3. % DIBI

4. % HegR
Discipline4

Group Number : 9

Group Id : 594459905

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 5944591630

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591898
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 59445942378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where was Sufi Khwaja Moiuddin Chisti born?
Options :

1. # India

2. % Pakistan

3. % Iran

4. ® Afaghanistan

Question Number : 161 Question Id : 59445942378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 AT HISTEH <t &1 5 BHal gaf UI?
Options :

1. % HRd

2. ® UifhEd

3. ¥ RM

4. % BRI

Question Number : 162 Question Id : 59445942379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many parts were there in the ancient Dhrupad 's composition?



Options :
1. % 2
2.% 3
3.%5
4. ¥ 4

Question Number : 162 Question Id : 59445942379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl §uc o1 a1 § favd= URT A9
Options :

1. % 2

2.%3

3.%5

4.9 4

Question Number : 163 Question Id : 59445942380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify Vitata instrument.

Options :

1. # Sitar

2. % Sarod

3. ¥ Sarangi

4. % Santoor

Question Number : 163 Question Id : 59445942380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fadd SUHUI H! UgaH |
Options :

1. % Jar




2. % WIS
3. IR
4. % IR

Question Number : 164 Question Id : 59445942381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which musical composition is sung in Deepchandi Tala?
Options :

1. % Dhamar

2. % Thumri

3. % Khayal

4. % Tarana

Question Number : 164 Question Id : 59445942381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Il Fiitd Ta1 dio=idl dred # 7 el g2
Options :

1. % YR

2. ¢ IR

3. % 9yl

4, % [T

Question Number : 165 Question Id : 59445942382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anabhyas' is related to

Options :

1. ¥ Alpatva

2. % Bahutva



3. # Avirbhava
4. * Tirobhava

Question Number : 165 Question Id : 59445942382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S ERCIECE
Options :

1. ¥ HcUd

2. % S

3. % anfquia

4. % foRIHTG

Question Number : 166 Question Id : 59445942383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd out.

Options :

1. # Tabla

2. % Pakhavaj

3. % Dholak

4. ¥ Daf

Question Number : 166 Question Id : 59445942383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fawH I B3|

Options :

1. % ddcll

2. ® gqdrasl

3. % gl



4. ¢ 8

Question Number : 167 Question Id : 59445942384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Compositions of Ustad Faiyaz Khan can be Identified by the pen name

Options :

1. ¥ Prem Piya
2. # Pran Piya
3. % Daras Piya
4. # Lalan Piya

Question Number : 167 Question Id : 59445942384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G BaTS Tl Bt a1l BT Hfcud 1 Y UgaH o 9l g |
Options :

1.« UH o
2. % o fuan
3. % oq3g fuan
4. % o foar

Question Number : 168 Question Id : 59445942385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When an expert musician deviates from original raga by rendering another raga for some time it is known as

Options :

1. # Avirbhav

2. ¥ Tirobhav

3. # Roopakalapti
4. % Anibadha Gana



Question Number : 168 Question Id : 59445942385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U faRieg SiiideR fedt 31 I &1 0 THT & ol URd SR {d IFT ¥ 8¢ SIal § ol 39 CIHRSIGIE
Options :

1. % 3ffaufa

2. ¢ fRIvG

3. % TUBIA]

4. % g TH

Question Number : 169 Question Id : 59445942386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given Compositions is sung in Hori festival?
Options :

1. % Dadara

2. # Kajari

3. ¥ Dhamar

4. # Chaiti

Question Number : 169 Question Id : 59445942386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o ¥ HH-H T eRt Sua | TS St 82
Options :

1. # alaXl

2. % PRl

3. ¥ YHR

4. % Tt



Question Number : 170 Question Id : 59445942387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sound created without striking is known as

Options :

1. # Aahat Nada

2. ¥ Anahat Nada

3. ¥ Svayambhu svara
4. ¥ Dhvani

Question Number : 170 Question Id : 59445942387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TeTd & foT fRmor fosd 77T <af o E I
Options :

1. % 3led Tl

2. % 3Hdlgd dlq

3. % WYY WX

4. %

Question Number : 171 Question Id : 59445942388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify purvangavadi raga.

Options :

1. ¥ Yaman

2. % Hameer

3. % Sohoni

4. % Basant

Question Number : 171 Question Id : 59445942388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
gaiTare! IAT Ug Iy |

Options :

1. ¥ g4

2. % HR

3. % gl

4, % g4d

Question Number : 172 Question Id : 59445942389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ragamala in modern music is developed from Prabandha.
Options :

1. % Dhruv

2. # Roopak

3. % Raga Kadamb

4. % Ovi

Question Number : 172 Question Id : 59445942389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Tifid T AT B geey 9 fasfd fear man gl
Options :

1. * ¢qd

2. % ¥[Dh

3. ¥ M PHad

4. % 3fidl

Question Number : 173 Question Id : 59445942390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the odd out.
Options :

1. % Kaivad Prabandh
2. % Nirgeet

3. ® Saptageet

4. ¥ Dhruva

Question Number : 173 Question Id : 59445942390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[ERERISKRY

Options :

1. % $HaTs ey

2. % fffq

3. % gl

4.+ ¢d

Question Number : 174 Question Id : 59445942391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which form is a previous state of khayal ?
Options :

1. % Sadara

2. % Mundi Dhrupad

3. ¥ Khamasa

4. # Tappa

Question Number : 174 Question Id : 59445942391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI T NAUGR TAT B! 4 TR &2

Options :



1. % e
2. ¢ 4at gua
3. % QO
4, % Tl

Question Number : 175 Question Id : 59445942392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is a type of Bahutva?

Options :

1. # Langhan

2. # Anabhyas

3. ¥ Alanghan

4. # Varj

Question Number : 175 Question Id : 59445942392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S5 BT UHR DI 1 52

Options :

1. % ogq

2. % YN

3. ¢ 3faET

4. % g9l

Question Number : 176 Question Id : 59445942393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What do you understand by ' KaKu' ?
Options :

1. * Udgrah



2. % Voice modulation
3. # Musical instrument

4. % Musical form

Question Number : 176 Question Id : 59445942393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTE T Y T JHIA © 2

Options :

1. #* 3alle

2. ¢ Y AIGARA

3. % g ad

4. % FUid YbR

Question Number : 177 Question Id : 59445942394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of Kaku are discribed in Ratnakar?
Options :

1.¥6

2.% 4

3.% 8

4, % 3

Question Number : 177 Question Id : 59445942394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YATHR | HIF & fdha- UHR aford g2
Options :

1.¥6
2.% 4




3.% 8
4. %3

Question Number : 178 Question Id : 59445942395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which grama disappeared in evolution process?
Options :

1. # Shadaj grama

2. ¥ Gandhar grama

3. % Madhyam grama

4. # Pancham grama

Question Number : 178 Question Id : 59445942395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{1 ufhan & & A1 UE w81 T
Options :

1. * gl UH

2. ¢ MYR IH

3. % HYHYMH

4. % UgH ITH

Question Number : 179 Question Id : 59445942396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aesthetics deals with the
Options :

1. % Beauty of nature
2. % Beauty Therpy
3. # Personality of Artist



4. ¥ Beauty of art

Question Number : 179 Question Id : 59445942396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BIERNIEC Y e B
Options :

1. % Uopid B Gadl

2. % Wiy fifpan

3. % PHATBR P AR

4. ¢ DAl DI Yol

Question Number : 180 Question Id : 59445942397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which rasa can be depicted by Drut laya?
Options :

1. % Shringar

2. % Karun

3. # Shant

4. ¥ Veera

Question Number : 180 Question Id : 59445942397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& O GRT ¥ 39 BT T {51 o 9ehel 52
Options :

1. % IR

2. % H20[

3. % T0d

4. ¥ IR



Discipline5

Group Number : 10

Group Id : 594459906

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline5

Section Id : 5944591631

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944591899

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 59445942398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does Bibhatsa Rasa depict?
Options :



1. ¥ Disgust
2. % Anger
3. % Love
4. # Pain

Question Number : 181 Question Id : 59445942398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dieg v R g=ifaT 8

Options :

1.« YUl

2. % Iy

3.% U

4. % UIgT

Question Number : 182 Question Id : 59445942399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option is not a fine art?

Options :

1. % Poetry

2. % Architecture

3. ¥ Pottery

4. % Sculpture

Question Number : 182 Question Id : 59445942399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
N o o .

[ I Tdh Y Tlefd bl :l_saf%9

Options :

1. # oY




2. % ARl
3. ¥ HUBRI
4. % TRrgHel

Question Number : 183 Question Id : 59445942400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is a well known philosopher in aesthetics?
Options :

1. ¥ Kant

2. % Helmholtz

3. # Pythagorus

4. % Karl Marx

Question Number : 183 Question Id : 59445942400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B Qa2 § uitig e 82
Options :

1. ¥ Hic

2. % goHBIe

3. % UIZYRIRY

4. % Tc HIR

Question Number : 184 Question Id : 59445942401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which rasa was added in post Natyashastra period?
Options :

1. # Hasya

2. % Veer



3. ¥ Shanta
4. % Gambhir

Question Number : 184 Question Id : 59445942401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T Y IR P §1¢ P BT H SIST T U192
Options :

1. % 8

2. % dR

3. ¢ R

4. % TR

Question Number : 185 Question Id : 59445942402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd out.

Options :

1. % Applied Arts

2. % Decorative Arts

3. #® Crafts

4. ¥ Fine Arts

Question Number : 185 Question Id : 59445942402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fawH I B3|

Options :

1. % SFIUgH el

2. % Forad] el

3. % fRregsd



4.« dfeld ol

Question Number : 186 Question Id : 59445942403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which rasa is Not depicted in Raga Gayan?
Options :

1. ¥ Bibhats

2. % Karun

3. # Shant

4. # Shringar

Question Number : 186 Question Id : 59445942403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A H o 39 &7 faon =761 fosa am 62
Options :

1. ¢ dIvE

2. % D[

3. % X

4. % IR

Question Number : 187 Question Id : 59445942404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given talas has equal number of matra in each khand?
Options :

1. #* Jhaptal

2. % Roopak

3. % Tilwada

4, % Dhamar



Question Number : 187 Question Id : 59445942404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T aretl & ¥ food o Ui WS T 011 &1 91 AT 67
Options :

1. % HAUdrd

2. % X[Uh

3. ¢ fdetarst

4, % YHR

Question Number : 188 Question Id : 59445942405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the concluding part of ancient compositions of Dhrupad.

Options :

1. # Sthayi
2. ¥ Abhog
3. % Sanchari

4. % Antara

Question Number : 188 Question Id : 59445942405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG &1 U= a1l &1 sifad urT § |
Options :
1. % Ryt
2. ¥ 3N
3. % YR
4. % 3



Question Number : 189 Question Id : 59445942406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which musical instrument is associated with Narada?
Options :

1. ¥ Veena

2. % Jhanjh

3. # Dholak

4. % Bansi

Question Number : 189 Question Id : 59445942406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B A1 IR 4 ARG F Hafd 52
Options :

1. ¢ dion

2. % i

3. % QI

4. % §1

Question Number : 190 Question Id : 59445942407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is understood by 'Susampradaya' with reference to prakirnakadhyaya?
Options :

1. % Belonging to a cult of religious activities

2. % Belonging to a dignified family

3. ®# Grooming many disciples

4. ¥ Belonging to esteemed Guru parampara

Question Number : 190 Question Id : 59445942407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T UhTe & JeH B guver ¥ &1 a1y 82
Options :

1. % yiffer wfafafdal & gy 4 deifd

2. * o Ufdf¥d aRar @ Feiferd

3. % &% R 1 TR BT

4.« 31RO T TRERT Y Hafdd

Question Number : 191 Question Id : 59445942408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many arts were included in ancient Indian culture?
Options :

1. * 10

2. % 25

3. %50

4. ¥ 64

Question Number : 191 Question Id : 59445942408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh = Hetaf ol Urei- YR S f o =mfiret foar a1
Options :

1. %10

2. % 25

3. % 50

4. ¥ 64

Question Number : 192 Question Id : 59445942409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following arts is not a fine art?



Options :

1. * Poetry
2. % Painting
3. % Crafts
4. % Music

Question Number : 192 Question Id : 59445942409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad o 9 HH-I S aferd sl el 82
Options :

1. % piddr

2. % FREIBHRY

3. ¢ Rieqsd

4. % It

Question Number : 193 Question Id : 59445942410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two elements create Nada?
Options :

1. ¥ Vayu-Agni

2. # Vayu-Akash

3. % Agni-Tej

4. ® Tej-Akash

Question Number : 193 Question Id : 59445942410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D T ) ded A1 BT fAHfor w5 g2

Options :



1. ¢ drg-3{A
2. % AIY-3{IHIR
3. % 3fffad
4. % q-3{THIY

Question Number : 194 Question Id : 59445942411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To which branch is the Rasa Theory related?
Options :

1. * Biology

2. % Psychology

3. % Sociology

4. % Linguistics

Question Number : 194 Question Id : 59445942411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 Rgid fora = & weftd 82
Options :

1. % Siafdgr

2. ¢ T

3. % HHNIRIRG

4. % HTYTIAH

Question Number : 195 Question Id : 59445942412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify Patakshar.

Options :

1. # Pa Dha Ma Ga



2. * Om Tat Sat
3. % Jay Jay
4. % Dhum kit

Question Number : 195 Question Id : 59445942412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gTeleR &1 Ugd de |

Options :

1. * YHT

2. % 3T ud

3. % SISy

4.« YA e

Question Number : 196 Question Id : 59445942413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The category of Bhasha Ragas belongs to classification system.

Options :

1. # Mela Vargikarn

2. % Thata Vargikaran

3. ¥ Gram Raga vargikaran
4. % Rag-Ragini Vargikaran

Question Number : 196 Question Id : 59445942413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTST AT < it FfbR0T YuTTelt § Heiferd gl
Options :

1. % T il

2. % YT FHBI



3. YT IAT BT
4. % AL Feffesor

Question Number : 197 Question Id : 59445942414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the correct formula for shruti vibhajan?
Options :

1. % 4-3-4-2-4-3-2

2.9 4-3-2-4-4-3-2

3. % 4-3-2-4-3-4-2

4, % 4.2-4-3-2-3-4

Question Number : 197 Question Id : 59445942414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT FaHToM &1 98! 93 B AT &2
Options :

1. % 4-3-4-2-4-3-2

2.9 4-3-2-4-4-3-2

3. % 4-3-2-4-3-4-2

4, % 4.2-4-3-2-3-4

Question Number : 198 Question Id : 59445942415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which treatise gives definition of Raga first?
Options :

1. ¥ Brihaddeshi

2. # Sangeet Parijat

3. # Abhinav bharati

4. # Rag vibodh



Question Number : 198 Question Id : 59445942415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy Ty T I7 ) GRHTST T Ugd & TS 99
Options :

. ¢ Jeell

2. % Gfid OTiReiTd

3. % 3T Rl

4. % ey

Question Number : 199 Question Id : 59445942416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which treatise depicts Dashavataras?
Options :

1. # Ramayana

2. % Mahabharat

3. ¥ Geet Govind

4. % Shiv Purana

Question Number : 199 Question Id : 59445942416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore Ty H SRITIAR SR 11 82
Options :

1. * MHU

2. #® HglHRd

3. ¢ Tiid Mide

4. % g qRIOT



Question Number : 200 Question Id : 59445942417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which term is related to devotional music?
Options :

1. # Dhruva

2. % Akshipthika

3. #* Bhanjani

4. ¥ Ashtachhap

Question Number : 200 Question Id : 59445942417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 1 Yea HickT Tt § Heifdrd &2

Options :
1. % dl
2. % SffaftrenT
3. % YoMl
4. ¢ AHPSMU

Discipline6
Group Number : 11
Group Id : 594459907
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline6

Section Id : 5944591632
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591900
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 59445942418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which chapter of Sangeet Ratnakar describes Gamakas?
Options :

1. # Svaradhyaya

2. % Rag vivekadhyaya

3. ¥ Prakirnakadhyaya

4. % Prabandhadhyaya

Question Number : 201 Question Id : 59445942418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG IRATHR BT DI AT LTI THD| BT gl el 82
Options :

1. % WRTA™

2. % T fadp1ear

3. ¢ Yl 0T




4, % JIYTAT

Question Number : 202 Question Id : 59445942419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of Svaramelakalanidhi?
Options :

1. # Sharangadeva

2. # Narad

3. % Ramamatya

4. % Dattil

Question Number : 202 Question Id : 59445942419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRUAH AT F TRID BI 87
Options :

1. % QR

2. % IRq

3. ¥ [HATY

4. % gfud

Question Number : 203 Question Id : 59445942420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ragas has varieties belonging to two Thatas?
Options :

1. # Kedar

2. % Gouri

3. ¥ Bageshri

4. % Jaunpuri



Question Number : 203 Question Id : 59445942420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefed & 9 fg I 8 < ure 31 fvd 32
Options :

1. ¥ $aR

2. ¢ TR

3. % §rIdh

4. % SEQY

Question Number : 204 Question Id : 59445942421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chaiti belongs to

Options :

1. ¥ Banaras
2. % Indore
3. % Jaipur
4. # Gwalior

Question Number : 204 Question Id : 59445942421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It Y Hefid 7
Options :

1. ¥ dRY

2. %GR

3. % SIYR

4. % TqICRR




Question Number : 205 Question Id : 59445942422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following musicians popularized Santoor?
Options :

1. # Pt. Ram Narayan

2. # Pt. Ravi Shankar

3. % Pt. Shivkumar Sharma

4. % Dr. N. Rajam

Question Number : 205 Question Id : 59445942422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad 4 9 fog IiiaeR = IR &1 AB g sHrr
Options :

1. % Ufed M ARM™

2. % Gfed Ad T

3. ¢ tfed Ragpar zHf

4. % g[.TA.]SH

Question Number : 206 Question Id : 59445942423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. # Ada Choutal

2. # Deepchandi

3. # Jhumara

4. ¥ Matta

Question Number : 206 Question Id : 59445942423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
[EREEIERECRY

Options :

1. % 3T AT
2. % diueidt

3. % FH

4. ¢ Hd

Question Number : 207 Question Id : 59445942424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given talas is Not played on Pakhava;j?
Options :

1. % Choutal

2. % Jhumara

3. ¥ Dhamar

4. % Tevara

Question Number : 207 Question Id : 59445942424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7T 1 B § BIH-91 URIasl WR g1 Fofl Sl 62
Options :

1. % 9

2. ¥ H

3. % YHAR

4. % daR

Question Number : 208 Question Id : 59445942425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the given musicians has influence of Pt. Omkarnath Thakur?
Options :

1. ¥ Dr. N. Rajam

2. # Vidushi Shubha Mudgal

3. # Begum Parveen sultana

4. % Pt. Ulhas kashalkar

Question Number : 208 Question Id : 59445942425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau g TitaeRi # ¥ fy R Ufed SieRATY 3THR &1 UHE ]2
Options :

1. ¢ . TA. S

2. % fagWi guT ga

3. % Y WA el

4. % UfSd g HITADR

Question Number : 209 Question Id : 59445942426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify Sankirn Raga.

Options :

1. % Basant Bahar

2. # Gaud sarang

3. ¢ Khat

4. # Shudh Kalyan

Question Number : 209 Question Id : 59445942426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yoptol IAT B UgAT B |

Options :



1. ® gUd I8R

2. % TS IR

3. ¥ 9dC

4. % g ST

Question Number : 210 Question Id : 59445942427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a Jod raga?
Options :

1. % Basant Bahar

2. ¥ Gorakh Kalyan

3. ¥ Nat Bhairav

4. # Ahir Bhairav

Question Number : 210 Question Id : 59445942427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea ¥ § HH-91 g I 8T 82
Options :

1. % gUd §8R

2. ¥ TR BT

3. % T IRg

4. % 3R IRa

Question Number : 211 Question Id : 59445942428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
b1l IFT 1 T 31 7

Options :

1. # A M



Question Number : 211 Question Id : 59445942428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of Sankirna Raga?
Options :

1. % Ashraya Raga

2. ®* Jod Raga

3. #* Pure Raga

4. ¥ Combination of many ragas

Question Number : 212 Question Id : 59445942429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Karnataka music form resembles Tarana in Hindustani Music?
Options :

1. # Kriti

2. # Padam

3. % Tillana

4. # Javali

Question Number : 212 Question Id : 59445942429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T Hlch id THR g Titd # R 4 firear Jadr g2
Options :

1. % Bid

2. % UgH



3. ¢ faearn
4. % Saq

Question Number : 213 Question Id : 59445942430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous kriti "Vatapi Ganapatim' is composed in raga
Options :

1. # Kiravani

2. ¥ Hamsadhvani

3. % Kalavati

4. ¥ Abhogi

Question Number : 213 Question Id : 59445942430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRig P arardt ot M H IR
Options :

1. # forarit

2. g

3. % Saadt

4. % 3PUFH

Question Number : 214 Question Id : 59445942431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Sankeern Jati , the value of Laghu is
Options :

1. % 4

2.%5

3.% 7



4.9

Question Number : 214 Question Id : 59445942431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tep10f ST &, Y BT Heul I8
Options :

1. % 4

2.%5

3.% 7

4.¥9

Question Number : 215 Question Id : 59445942432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many Talas are obtained by Jati-Gati bheda?
Options :

1. ¥ 175

2. % 35

3. % 100

4. %17

Question Number : 215 Question Id : 59445942432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sfd-71fd 9 ¥ fora o1 T 8l 82
Options :

1. ¥ 175

2. % 35

3. % 100

4. % 7



Question Number : 216 Question Id : 59445942433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hled Td &1 DI T Ad fRgearmi Iid & gaf UTe & THH 82
Options :

1. % FeURdl

2. ¢ B Yl

3. ® THAIEY

4. % U HegTuil

Question Number : 216 Question Id : 59445942433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Mela of Karnataka music is similar to Purvi Thata of Hindustani music?
Options :

1. # Nata Bhairavi

2. % Kama Vardhini

3. % Gamanashriya

4. ¥ Mech Kalyani

Question Number : 217 Question Id : 59445942434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Shubhapantu varali mela of Karnataka music is similar to Thata of Hindustani Music.

Options :
1. # Khamaj
2. # Kafi
3. % Todi
4. # Bhairav

Question Number : 217 Question Id : 59445942434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Hled ITid H1 YUY el A g Iia & YIe & JAF B |
Options :

1. % QAT

2. % BIPI!

3. ¢ drel

4. % IRg

Question Number : 218 Question Id : 59445942435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. # Hansadhvani

2. # Kirvani

3. ¥ Mukhari

4. ¥ Nand

Question Number : 218 Question Id : 59445942435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fawH &1 =TT

Options :

1. * ggeaf

2. ® foar!

3. % Q@RI

4. ¥ d<q

Question Number : 219 Question Id : 59445942436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AT P oA had T IR AEnaft # g7 foa se |
Options :

1. %5

2.% 6

3.4

4. % 8

Question Number : 219 Question Id : 59445942436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tigun of Choutal only once will be completed in Matras.
Options :

1. %5

2.% 6

3.¥ 4

4. % 8

Question Number : 220 Question Id : 59445942437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following musicians belong to Nathadvara Gharana of Tabla?
Options :

1. ¥ Purushottam Das

2. # Kudau Sing

3. * Ramakumar Das

4. % Ramdas

Question Number : 220 Question Id : 59445942437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffifead & 9 & 91 TiitdeR dead & TUgRT IR A J&fd g2




Options :

1. ¢ GoNIH G

2. % $aS g
3. #* [HPHR &l¥
4. % [HqH
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Question Number : 221 Question Id : 59445942438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which layakari is understood by the proportion 7/4?
Options :

1. ® Aadi

2. ¥ Biadi

3. # Tiguni

4. % Kuadi

Question Number : 221 Question Id : 59445942438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7/4 &% FHYTE J DH-T TaHR] JHS ST 82
Options :

1. % 378t

Question Number : 222 Question Id : 59445942439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Bol of Tabla is played only by right hand?
Options :

1. # Dha

2. % Ge

3. ¥ Tita

4. % Dhin

Question Number : 222 Question Id : 59445942439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

q9c B DI AT Sl Had alfg- g1 A oI STl 52
Options :

1. % Yl

2. %7

3. ¢ fod

4. % f

Question Number : 223 Question Id : 59445942440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which bol of tabla is played with both hands?
Options :

1. ¥ Dha

2. % Na

3. ® Ge

4. % Ta

Question Number : 223 Question Id : 59445942440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qSc &1 DIF AT S a1 gTl oSS 9Tl 82
Options :

1.¥ Yl

2. % Al

3.% 7

4, % dl

Question Number : 224 Question Id : 59445942441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a Vishampadi Tala?
Options :

1. % Teental

2. % Ada Choutal

3. % Dhamar

4. ¥ Dadara

Question Number : 224 Question Id : 59445942441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad o 9 oF favmud! ard 82
Options :

1. % dHard

2. % 3TST AT

3. ¥ YOR

4. % gl

Question Number : 225 Question Id : 59445942442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the proportion of Aadi Laya?
Options :

1. # 2/3 bol in 1 matra

2. # 5bolin 1 matra

3. % 3/2 bol in 1 matra

4. # 9/4 bol in 1 matra

Question Number : 225 Question Id : 59445942442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS} T BT AU T 82

Options :



1. % | gEATH 23 9 A
2. % | HETH 5 9@
3.¢ | AETH 32 9
4. % | HEATH 9/4 1A

Question Number : 226 Question Id : 59445942443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a Samapadi Tala?
Options :

1. # Jhaptal

2. % Choutal

3. % Roopak

4. ¥ Deepchandi

Question Number : 226 Question Id : 59445942443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed o 9 o 91 gHud! ard g2
Options :

1. * FUdrel

2. ¢ dIdTd

3. % ¥Udp

4. % diuidl

Question Number : 227 Question Id : 59445942444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Tabla player belongs to Lucknow Gharana?
Options :

1. ¥ Ustad Abid Husen Khan



2. # Ustad Ahamad jan Tirakhava
3. # Ustad Allarkhan
4. # Pt. Kishan maharaj

Question Number : 227 Question Id : 59445942444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 G dGh TGS TR J Gafdd 82
Options :

1. ¥ 3G 31 g @H

2. % JTG 3gHq O IRl

3. % I SIRYM
4. % Ufed {3 HERIS

Question Number : 228 Question Id : 59445942445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which treatise was written by Raja Mansingh Tomar?
Options :

1. ® Raga Bodh

2. # Sangeet Kalpadrum

3. ¥ Manakutuhal

4. ® Sangeet Darpan

Question Number : 228 Question Id : 59445942445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI T Y ol AR AR gRT fera am um

Options :
1. % AT Y
2. % Giiid HeugH



3. ¢ TIHded
4, % G ST

Question Number : 229 Question Id : 59445942446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifead # ¥ S 91 qaa aiee SoRIST TRMA § Jefdd 82
Options :

1. ¢ IXIIG Gelge - @M

2. % {HYHE UERS

3. % IHG ARG

4. % 3ffee g @M

Question Number : 229 Question Id : 59445942446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Tabla players belongs to Ajrada Gharana?
Options :

1. ¥ Ustad Habibuddin khan

2. # Kishan Maharaj

3. % Ustad Allarakhan

4. ¥ Abid Husen Khan

Question Number : 230 Question Id : 59445942447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following musicians was the Head of Music Department at Banaras Hindu University?
Options :

1. # Pt. V. D. Paluskar

2. % Pt. Omkarnath Thakur

3. # Pt. Krisnarao Pandit



4. # Pt. Ratanjankar

Question Number : 230 Question Id : 59445942447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed # 3 & 9 SiideRr s Ry g fayfaemeay & ¥ia faum & uga 8
Options :

1. % tfga dl. 1. ugEnR

2. ¢ UfSd SHIBRATY BTHR

3. % Ufgd $URME ufted

4. % Uf$d ISR

Question Number : 231 Question Id : 59445942448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was the pen name of Nyamat Khan?
Options :

1. ¥ Sadarang

2. % Adarang

3. ¥ Manarang

4. # Tanarang

Question Number : 231 Question Id : 59445942448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T T Hfedrd A8 1 Y
Options :

1. ¢ R

2. % 3R

3. % {0

4. % T



Question Number : 232 Question Id
Orientation : Vertical

: 59445942449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

What was the real name of Adarang?
Options :

1. ¥ Feroz Khan

2. % Bhupat khan

3. ¥ Nyamat Khan

4. ¥ Mahabat Khan

Question Number : 232 Question Id
Orientation : Vertical

: 59445942449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

3GRI P dIKfdeh =TH T U2
Options :

1. ¢ TR @

2. % YOd @M

3. % fqgmd @H

4. % TGIGd @M

Question Number : 233 Question Id
Orientation : Vertical

: 59445942450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
At which place did Swami Haridas live?

Options :

1. # Jayapur
2. # Banaras
3. % Vrindavan

4. ¥ Tanjavur

Question Number : 233 Question Id

: 59445942450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TTH BRERT fohd RIH TR I8 d U2
Options :

1. % SIYTYR

2. % dRY

3. ¥ dldd

4. % TR

Question Number : 234 Question Id : 59445942451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Swami Haridas created many compositions of
Options :

1. # Thumri

2. ® Tappa

3. # Khayal

4. ¥ Dhrupad

Question Number : 234 Question Id : 59445942451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A gRer 7 3 EaRCEIEal
Options :

1. % WY

2. % U

3. % 94

4. % YUq

Question Number : 235 Question Id : 59445942452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who was the daughter of Ustad Allauddin Khan?
Options :

1. # Hira Devi

2. % Annapurna Devi

3. % Sidheshvari Devi

4. % Girija Devi

Question Number : 235 Question Id : 59445942452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G SASE TH &1 Tt DI o
Options :

1% gRIcd

2. ¢ SFAYUl gdt

3. % RygaRt gt

4. % iR ga

Question Number : 236 Question Id : 59445942453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following musicians is contemporary to Amir Khusro?
Options :

1. % Tansen

2. # Dhondu Nayak

3. ¥ Swami Haridas

4. ¥ Gopal nayak

Question Number : 236 Question Id : 59445942453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 & 91 TideR SR IR &1 JHSGH 82




Options :

1. % qHaA

2. % Hig AD
3. % Wl gha™
4. ¥ T D

Question Number : 237 Question Id : 59445942454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. ¥ Ramamatya

2. ® Tyagaraja

3. % Shyama Shastri

4. % Muthuswami Dixitar

Question Number : 237 Question Id : 59445942454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faH &1 = B |

Options :

1.« MHATY

2. % AR

3. ® I ARl

4. % g diféeR]

Question Number : 238 Question Id : 59445942455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the composer of 'Jana Gana Mana'?
Options :



1. # Bankimchandra Chatterjee
2. % Ravindranath Tagore

3. # Pt. Paluskar

4. # Pt. Ravi Shankar

Question Number : 238 Question Id : 59445942455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S 7101 7 o AR D 67

Options :

1. % dfbHas et

2. ¢ T&lAY SR

3. % UfSd Uy

4. % UfSd 3fd g

Question Number : 239 Question Id : 59445942456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following musicians popularized Sarod?
Options :

1. ¥ Hafiz Ali Khan

2. % Alladiya Khan

3. % Bande Ali Khan

4. % Rajab Ali Khan

Question Number : 239 Question Id : 59445942456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed O 9 food TiiaeR A WRIG &1 Ab v s>
Options :

1. ¢ gTithoT 3fett at




2. % eIl @
3. % §¢ 3fcl @
4, % I9 3l @

Question Number : 240 Question Id : 59445942457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the senior most amongst the given musicians?
Options :

1. ¥ Bach

2. % Mozart

3. % Beethovan

4. ¥ Michael Jackson

Question Number : 240 Question Id : 59445942457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T SifideRI § 999 Y S 87
Options :

1. ¥ d[d

2. % O

3. % iyl

4. % AEHA ST
Discipline8
Group Number : 13
Group Id : 594459909
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline8

Section Id : 5944591634

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944591902

Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 59445942458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Major work of Bach is related to
Options :

1. * Love

2. * Nature

3. % Devotion

4. % Patriotism

Question Number : 241 Question Id : 59445942458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TG D1 YgE H EEEIRGE
Options :

Question Number : 242 Question Id : 59445942459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of 'Pranav Bharati'?
Options :

1. ¥ Pt. Omkarnath Thakur

2. % Pt. V. D. Paluskar

3. # Pt. Narayanrao Vyas

4. # Pt. Krishnarao Pandit

Question Number : 242 Question Id : 59445942459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S YU U & TGP g7

Options :

1. ¢ UfSd SHIBRATY STHR

2. % Ufgd dt. SI. Uy

3. ® UfSd ARIURTG U

4. % GfSd $URIE Giugd

Question Number : 243 Question Id : 59445942460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the given instruments did Ustad Bade Gulam Ali Khan learn?



Options :

1. # Tabla

2. ¥ Sarangi
3. # Shehanai
4. # Sarod

Question Number : 243 Question Id : 59445942460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7T IRl & @ HF 91 972 ITE g3 e 3l | A
Options :

1. * dddl

2. ¢ RN

3. % YRR

4. % WIg

Question Number : 244 Question Id : 59445942461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the Guru of Ustad Allauddin Khan?
Options :

1. # Ustad Azim Baksh

2. ¥ Ustad Vazeer khan

3. % Ustad Haddu Khan

4. # Ustad Nanhe Khan

Question Number : 244 Question Id : 59445942461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS HATSEH WH & & I A2
Options :




1. % JXTG Sl TR
2. ¥ JIEG T9IR M
3. % I gag WH
4. % IIG I5 GH

Question Number : 245 Question Id : 59445942462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. % Mridanga

2. % Pataha

3. # Panav

4. % Ravanahatha

Question Number : 245 Question Id : 59445942462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fasH &1 == B

Options :

1. % 7Tl

2. % Ucg

3. % 7Uiq

4, AU gdT

Question Number : 246 Question Id : 59445942463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the orchestra of percussion instruments called in ancient period?
Options :

1. ¥ Avanadha Kutap



2. % Tata Kutapa
3. # Gahana Kutapa
4. ® Susheer Kutapa

Question Number : 246 Question Id : 59445942463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dTet ATl & HThecT B U BTd § o1 Bl ST UT?
Options :

1. ¢ 3{dd& ddYU

2. % dd ddyu

3. ®# Y1 pdu

4. % FERHA

Question Number : 247 Question Id : 59445942464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of Turya?

Options :

1. ® Orchestra in Bharata's period

2. % Orchestra in Panini's period

3. # orchestra in Sharangdeva's period

4. ® Orchestra in Mughal period

Question Number : 247 Question Id : 59445942464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@t e e ge

Options :

1. % 1R B B A bl

2. ¢ IO & 1 | i




3. % YRATCd & 1A H bl
4. % TIA DA T 3fibeeT

Question Number : 248 Question Id : 59445942465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What do understand by Kutap?

Options :

1. % Orchestra in Bharata's period

2. ® Orchestra in Panini's period

3. % orchestra in Sharangdeva's period
4. # Orchestra in Mughal period

Question Number : 248 Question Id : 59445942465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAU Y T T YA § 2

Options :

1. ¢ WRd & B T Theel
2. % IO o P | HTdheer
3. % YR & 1A H b

4. % A DA H 3]

Question Number : 249 Question Id : 59445942466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. # Jayaghanta

2. ® Kasyatala

3. # Kshudraghanta



4. ¥ Damaroo

Question Number : 249 Question Id : 59445942466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fawH &1 = B |

Options :

1. ® Sgder

2. % HYdd

3. % gUuc]

4, & SHX

Question Number : 250 Question Id : 59445942467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. # Vipanchi

2. % Shatatantri

3. ® Ravanhatha

4. ¥ Hudukka

Question Number : 250 Question Id : 59445942467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faH &1 = B |

Options :

1. % faust

2. % R[Adat

3. % X[AUI g

4. ¥ ggadl



Question Number : 251 Question Id : 59445942468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify ancient Avanadha Vadya.
Options :

1. ¥ Dardur

2. % Vipanchi

3. #* Pinaki

4. % Pavika

Question Number : 251 Question Id : 59445942468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT 3faeg dTel i Ugar |
Options :

1. ¥ &g

2. % faud

3. % fOsTTen!

4. % Ifdep

Question Number : 252 Question Id : 59445942469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To which of the following are avandha vadya related ?
Options :

1. # Metal

2. % Tvory

3. ¥ Leather

4. % silk

Question Number : 252 Question Id : 59445942469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofRed # 3 fred sfas are St 82
Options :

1. % YId

2. % grfteld

3. ¥ gHgl

4. % IJM

Question Number : 253 Question Id : 59445942470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pingala's Shastra is related to

Options :

1. # Rasa
2. ® Shruti
3. % Chanda
4. ¥ Raga

Question Number : 253 Question Id : 59445942470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfTeT b1 TRl RESEIRCE
Options :

1. #Y

2. % 9ffd

3.V 98q

4. % [

Question Number : 254 Question Id : 59445942471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What do you understand by Shatpitaputrak?
Options :

1. # Deshi Prabandh

2. ¥ Margi Tala

3. ¥ Ancient musician

4. % Ancient instrument

Question Number : 254 Question Id : 59445942471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ve AT ¥ 1Y o1 A § 2

Options :

1. % SR ey

2. Ol ard

3. % Y SiideR

4. % YT AT

Question Number : 255 Question Id : 59445942472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many pranas of tala are described in historical treatise?
Options :

1. % 4

2. % 8

3.410

4, % 12

Question Number : 255 Question Id : 59445942472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofaeTRRie Uy # d1d & fosd= wTon &1 9ol fasar man g2



Options :
1. % 4
2.% 8
3.4 10
4. % 12

Question Number : 256 Question Id : 59445942473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the symbol I denote in ancient tala system?
Options :

1. ¥ Laghu

2. % Guru

3. * Pluta

4. * Drut

Question Number : 256 Question Id : 59445942473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a1t et B 1 78 forg 35 o) e fod sovan 82
Options :

1. ¥ Y

2. % 7%

3. % W|d

4. % gqd

Question Number : 257 Question Id : 59445942474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yati is related to

Options :



1. * Svara
2. ¥ Laya
3. % Shruti
4. % Raga

Question Number : 257 Question Id : 59445942474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfct BESCIRRES

Options :

1. % IR

2.¥ g

3. % gffd

4. % [

Question Number : 258 Question Id : 59445942475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of Grahas are described in ancient tala system?
Options :

1.¥ 4

2.%3

3.0

4. % 2

Question Number : 258 Question Id : 59445942475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Tt YurTeRt H fbhd= YR & U8 1 qul fosam mar g2
Options :

1.9 4



2.%3
3.%9
4, %2

Question Number : 259 Question Id : 59445942476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify Margi Tala.

Options :

1. ¥ Chatchatput

2. # Hayaleel

3. ¥ Rasak

4. # Laghushekhar

Question Number : 259 Question Id : 59445942476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATl T Bt U= B |

Options :

1. ¢ IIdc

2. % g

3. % b

4, % YRR

Question Number : 260 Question Id : 59445942477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pipilika is a type of

Options :

1. # Theka

2. % Marg



3. # Kala
4. ¥ Yati

Question Number : 260 Question Id : 59445942477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fodiferesT BT UPR g

Options :

1. % 3BT

2. % TRY

3. % ol

4. gfd
Discipline9

Group Number : 14

Group Id : 594459910

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline9

Section Id : 5944591635

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591903
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 59445942478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of Sashabd kriya?
Options :

1. ¥ Tali

2. % Khali

3. % Khand

4. # Avartan

Question Number : 261 Question Id : 59445942478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fob T T T 37 B2

Options :

1. ¢ dreit

2. % @it

3. % G

4. % 3fac

Question Number : 262 Question Id : 59445942479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To which Gharana did Abdul Karim Khan belong?



Options :

1. # Gwalior

2. % Agra

3. # Kirana

4. ¥ Bhendibazar

Question Number : 262 Question Id : 59445942479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fegd B Wl b TR ¥ Fafdd U2
Options :

1. ® TqIfeRR

2. % AMRI

3. ¢ T

4. % fISIENR

Question Number : 263 Question Id : 59445942480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. % Pt. V. D. Paluskar

2. % Pt. Ichalkaranjikar

3. # Pt. Narayanrao Vyas

4. ¥ Pt. Bhaskarbuva Bakhale

Question Number : 263 Question Id : 59445942480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICLEECAEREERY

Options :



1. % tfga dl. 1. U
2. % UfSd SAAPSIDR
3. % Uf&d TRTIURTE A
4. ¢ UfSd YRRl §9

Question Number : 264 Question Id : 59445942481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kesarbai Kerkar was disciple of

Options :

1. ¥ Haddu Khan

2. % Alladiya Khan

3. # Sharafat Husen Khan
4. % Vaheed Khan

Question Number : 264 Question Id : 59445942481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HERATS B & e off|
Options :

1. # gqg @M

2. ¢ 3fcATiSdT W

3. % YRGB g TH

4. % glgle @

Question Number : 265 Question Id : 59445942482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following artists represent Rampur Sehasvan Gharana?
Options :

1. # Ustad Faiyaz Khan



2. ¢ Ustad Inayat Khan
3. % Ustad Alladiya Khan
4. % Ustad Amir Khan

Question Number : 265 Question Id : 59445942482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfifad o ¥ HF I bR IAGR Jega- TR $T Ufafidd Hd 82
Options :

1. % IKITe B @l

2. % 3dlq I1-d 9T

3. % I Sfeaniiear @M

4. % JxTq MR T

Question Number : 266 Question Id : 59445942483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pt. Narayan Khare belongs to

Options :

1. ¥ Gwalior Gharana
2. % Agra Gharana

3. # Atrauli Gharana

4. % Rampur Gharana

Question Number : 266 Question Id : 59445942483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ufed AR @R RESEIRGE
Options :

1. ¢ TR ORI

2. ® JRTWRMI




3. % SR TR
4. % AR GRMA

Question Number : 267 Question Id : 59445942484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given options is a Beenkar's gharana ?
Options :

1. * Bhendibazar

2. % Maihar

3. % Khurja

4. # Delhi

Question Number : 267 Question Id : 59445942484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawedl & 9 S A1 FFHR BT IR 82
Options :

1. % fUSIENR

2. ¥ AR

3. % oIl

4. % foed!

Question Number : 268 Question Id : 59445942485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which musician composed Bandish with the pen name 'Dilrang'?
Options :

1. ¥ Ustad Azamat Husen Khan

2. % Ustad Ramajan Khan

3. % Ustad Abdulla khan



4, % Ustad Jahoor Khan

Question Number : 268 Question Id : 59445942485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg TP R A TEeRTT SHictd 17 I sifc=r &t T 1 &P
Options :

1. ¥ IS SHoTHd g @M

2. % TG YHSITH dT

3. % 3l g el Wl

4. % IS g TH

Question Number : 269 Question Id : 59445942486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following musicians of Agra gharana received talim of khyal in Gwalior gharana?
Options :

1. % Faiyaz Khan

2. % Gulam Abbas Khan

3. % Ghagge Khudabaksh

4. ¥ Sher Khan

Question Number : 269 Question Id : 59445942486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTTRM & Fgfeied & J fog FiiidedR A w@iferaR TR § WA o1 drelid Ui Hie
Options :

2. % IcIH AsdTH 9T

3. ¥ YU GeTeeT

4. % IRGH




Question Number : 270 Question Id
Orientation : Vertical

: 59445942487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Nom Tom alapi with influence of Dhrupad Gayaki is a specialty of Gharana.

Options :

1. # Kirana

2. # Indore

3. #* Bhendi bazar
4. ¥ Agra

Question Number : 270 Question Id
Orientation : Vertical

: 59445942487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

§UC TTIh! o THTG & TTY Y dIF S[adT R $! faRwar g

Options :

1. % frmT

2. % §aR

3. % S AR
4.« 3R

Question Number : 271 Question Id
Orientation : Vertical

: 59445942488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the given talas is used for the semi classical form Dadara?

Options :

1. ¥ Keharava
2. # Teental
3. % Pashto

4. % Savari

Question Number : 271 Question Id

: 59445942488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feu T ardl # T g o1 U SURIRET idueR grexT & foru fasan widn 82
Options :

1. ¢ Hedl

2. % dFdra

3. % TEdl

4. % gaRy

Question Number : 272 Question Id : 59445942489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify Margi Tala.

Options :

1. ¥ Chaachaput

2. ¥ BramhaTala

3. % Gaja jhampa

4. ¥ ManthTala

Question Number : 272 Question Id : 59445942489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 1 1 U= B |
Options :

1. ¢ IMEYe

2. % §gdld

3. % IS FHT

4. % Hg did

Question Number : 273 Question Id : 59445942490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Identify Deshi Tala.

Options :

1. # Chatchatput

2. % Chaachaput

3. % Hansaleel

4. % Panchapani

Question Number : 273 Question Id : 59445942490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRIT I1d B UgaH B |

Options :

1. % g9gc

2. % dMYc

3. ¢ gt

4. % Gt

Question Number : 274 Question Id : 59445942491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given forms is effective in introducing a raga to the beginners?
Options :

1. # Tarana

2. # Dhrupad

3. % Saragam geet

4. ® Khayal

Question Number : 274 Question Id : 59445942491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few mu fiquer # @ o 91 MausR N & fore I ufeg w3 & Tt 82




Options :

1. # O]l

2. % YUaq

3. ¢ JIH A
4. % @Gyl

Question Number : 275 Question Id : 59445942492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following forms Paran is used as literature?
Options :

1. % Dadara

2. # Lakshangeet

3. % Dhamar

4, ¥ Trivat

Question Number : 275 Question Id : 59445942492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol @ 3 forg MaueRr § R &1 garT A & U § fosar 1 52
Options :

1. # alaXl

2. ® q&Unfid

3. % YR

4.« Bac

Question Number : 276 Question Id : 59445942493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Literature of Kajari is related to

Options :



1. # Hori

2. ¥ Varsha Ritu
3. % Vasant Ritu
4. ¥ Ram Bhakti

Question Number : 276 Question Id : 59445942493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HoR! BT TIfed BRCIDRE]
Options :

1. % B

2. ¢ TN Fg

3. % gUd Hg

4. % W ik

Question Number : 277 Question Id : 59445942494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which modern form is related to ancient Stobha?
Options :

1. % Khayal

2. ¥ Thumri

3. # Tappa

4. ¥ Tarana

Question Number : 277 Question Id : 59445942494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T YD TIUBR U WY F TSR g2

Options :
1. % 9yref



2. % g
3. % oo
4.« TR

Question Number : 278 Question Id : 59445942495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which form has the characteristic of Tanayat?
Options :

1. ¥ Tappa

2. # Thumri

3. % Dhamar

4. # Dadara

Question Number : 278 Question Id : 59445942495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 fiaueR # arid ot favar g2
Options :

1. % Wl

2. % I

3. % YR

4. % qIaxT

Question Number : 279 Question Id : 59445942496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which form uses the tala Ada choutal?
Options :

1. # Dhrupad

2. ¥ Khayal



3. ®* Dhamar

4. ¥ Tappa

Question Number : 279 Question Id : 59445942496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI T MAUSR 3MTST Arara H T ST 82
Options :

1. # YUucq

2. ¥ °9qTd

3. % YHR

4, ® Ul

Question Number : 280 Question Id : 59445942497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. # Kabir

2. % Nanak

3. ¥ Sadik Ali

4. % Tulsidas

Question Number : 280 Question Id : 59445942497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faH &1 = B |

Options :

1. ® PHaR

2. ® AqHH

3. ¢ Hifde 3rcit



Teaching Methodology
Group Number : 15
Group Id : 594459911
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 5944591636
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591904
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 59445942498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
also known as Meaningful Verbal Learning because most of the understandings about the concepts are presented, rather than




discovered.

Options :

1. ¥ Rational Learning
2. % Reciprocal Learning
3. ¥ Reception Learning

4. ® Progressive Learning

Question Number : 281 Question Id : 59445942498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI 3fguf Aifae Siftme & = § 1} ST ST & Fiifeh sraeRunss & IR § IS T, Wiel S & §oTd U &1 Sl

|
Options :

1. % qHgd TH

2. % URUNG (RYIH) RTH
3. ¢ IUET ST

4. % TETfRiS HfERTH

Question Number : 282 Question Id : 59445942499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and select the appropriate option regarding their truthfulness:

Statement I - What children can do on their own is their level of actual development.
Statement II - What children can do with help is their level of potential development.

Options :

1. # Both Statements are False
2. ¥ Both Statements are True
3. # Only Statement I is True
4. % Only Statement II is True

Question Number : 282 Question Id : 59445942499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraffed Hy=t &1 ufey iR 3@ Tadl & Tt T Iugad fawed &1 99+ Hiford:

PYT1 - 9= U 3MY Sl HR Jhd ¢ 98 3P dRddPb [qhg BT TR ¢
PHYT I - 5 Ol 7GE Y DR Jhd g, 98 I AHIfAd f[ah™ ST TR g

Options :

1. # GFI YT 3TA §
2. ¢ A HYT I §
3. % AT HYT I II 8
4. % HIAPYT N II &

Question Number : 283 Question Id : 59445942500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which mode of Jerome Bruner's representation involves encoding action based information and storing it in our memory?
Options :

1. ¥ Enactive representation

2. ® Symbolic representation

3. % Iconic representation

4. # Language representation

Question Number : 283 Question Id : 59445942500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR R & Ul o1 forg faen &, foram snenla Gamm & Sdad HRA1 3R 39 §ART Wid § WUEid &3 2nfid 82
Options :

1. ¢ SUfded UidHfda

2. % YdipTed Ufdffea

3. % IS UfdHfda

4. % Yy yfaffea




Question Number : 284 Question Id : 59445942501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and select appropriate options regarding they are truthfulness.

Statement I - Example of Convergent Question - Write the nature of Bengali Literature?
Statement II - Example of Divergent Question - Who is the father of Bengali Language?

Options :

1. # Both Statements are True
2. # Only Statement II is True
3. % Only Statement I is True
4. ¥ Both Statements are False

Question Number : 284 Question Id : 59445942501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed Hu! &1 ufed 3R 39 I 811 & YaY H Iugad fadhed] BT I8 PIfoTC:

BHYA 1 - HIUART UY BT &8R-l - STc! e Dbl Upidl ferd?
BHYT 11 - TR T BT ICTE0T - ST HINT P ST B 82
Options :

1. % N HYTIA G

2. % HITPYT 1 II g

3. % HITHYT I II @

4. ¥ TF HYF 3TA §

Question Number : 285 Question Id : 59445942502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the second natural skill in language that we acquire in our native language that is also known as productive skill or an active skill?
Options :

1. % Listening

2. % Reading



3. ¥ Speaking
4. % Writing

Question Number : 285 Question Id : 59445942502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS & GIR MBI HIA BT ATH Fargy o 89 U1 Ja U H T 3 & oIl SdTadh HIId A1 Gichd DHI-A & =g | o} SI1 i1

?

Options :

1. % g1
2. % eIl
3. ¢ Sl
4. % forg

Question Number : 286 Question Id : 59445942503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which level of Language Development gives the student an opportunity to emerge from nonverbal to verbal interaction?
Options :

1. % Level six

2. ¥ Level three

3. # Level eight

4. % Level seven

Question Number : 286 Question Id : 59445942503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIYT fIBT T B T TR B Bl idbfad I AifGd 3id:fhar H SHRA &1 @R a1 82
Options :

1. ® AT e

2. ¢ TR AH




3. % IR 36
4. % XA HId

Question Number : 287 Question Id : 59445942504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Afgrel & v & ugE HRUi H | e § Afe
Options :

1.« FHMAT

2. % {HMECI

3. % IO

4. % Ugdld

Question Number : 287 Question Id : 59445942504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the major causes of malnutrition among Indian women is gender
Options :

1. ¥ inequality

2. % parity

3. ® equity

4. ¥ identity

Question Number : 288 Question Id : 59445942505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Herring, Job-Sluder, Scheckler and Barab, what comprises of luring others into often pointless and time-consuming discussions?
Options :

1. # Elocution

2. # Debate

3. ® Messaging



4. ¥ Trolling

Question Number : 288 Question Id : 59445942505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR, Siie-Trey, Vhar 3R SR & ER, by § 3remR el 3R Trg o arell =rafall & gaRl & T 2nfere 82
Options :

1. % qifterar

2. % gI-faarg

3. % Ham

4.« QAT

Question Number : 289 Question Id : 59445942506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1996, which bill was introduced as 81st Constitutional Amendment Bill by Deve Gowda government?
Options :

1. % Population Regulation Bill

2. % Anti-Discrimination and Equality Act

3. ¥ Women’s reservation bill

4. % Dowry Prohibition Act

Question Number : 289 Question Id : 59445942506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1996 H, {5 {39 oI SIS WBR gRT 819 TAYM Fe= fA9Te & =0 H U fovam mar U1
Options :

1. % S fafgee fadas

2. % VUG- 3R AT oy

3. ¢ Higl 3R&UI [ddash

4. % ggol (Y Sffafgw



Question Number : 290 Question Id : 59445942507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the following, what shows us a summarized grouping of data divided into mutually exclusive classes and the number of occurrences in a
class?

Options :

1. % Measures of Central Tendency
2. ¥ Frequency Distribution

3. #® Co-efficient of Correlation

4. % Standard Deviation

Question Number : 290 Question Id : 59445942507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad o @, 1 g8 RER 3ruaell a7 & fauTiord Sfies! o1 IR Iqg iR T a7 & 811 areh ge-rsil o1 T o gxifdr 82
Options :

1. % g Ughi & IUr

2. ¢ 3 faaRor

3. % gggdy ol

4. % AHED [dae

Question Number : 291 Question Id : 59445942508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and select appropriate options regarding their truthfulness

Statement I - The mode of distribution is commonly understood as the arithmetic average.
Statement II - . In Median, the distribution the half of the values lies below and above the midpoint.

Options :
1. ¥ Only Statement II is True
2. % Only Statement I is True

3. # Both Statements are False



4. % Both Statements are True

Question Number : 291 Question Id : 59445942508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed Hy=t o1 ufeu iR 3@ Tadl & Yae H Iuged [adwed! &1 99+ Hiford:

HY 1 - f[IaRUT & R DI IR W SHORT 39d & =4 H GHgN Sl o |
HY 11 - AT H, T & 1Y &1 [darur Aafag & -id iR SW B¢ |

Options :

.Y FaaHYT I §
2. % HIAPYT I I &
3. % TF BYF 3T ©
4. % T PYTIT G

Question Number : 292 Question Id : 59445942509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the value of the variable that corresponds to the maximum frequency of the distribution.

Options :

1. # Standard Deviation
2. % Mean

3. % Median

4. ¥ Mode

Question Number : 292 Question Id : 59445942509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR BT AF © o fIRU B b 3mgfey & A @rar 3
Options :
1. % A fa<e
2. % HIY



3. % Hifeer
4. ¥ TS

Question Number : 293 Question Id : 59445942510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By adopting the , identification of children may be made as those who are mentally retarded, slow learners, normal learners,
academically advanced learners and gifted learners.

Options :

1. # Ability based approach
2. % Sensory approach

3. ¥ Cognitive approach

4. % Society based approach

Question Number : 293 Question Id : 59445942510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T I, T B! U AFRID U I He, HiH) 1fa T T a1, I e, srerefiie =0 9 S fRyamdf ek
gferHTaeR RramRial & =0 § &) off gl |

Options :

1. % & YT IUFTH
2. % Fddl IUrRTH

3. ¢ GIMIHS SUNTH

4. % UM SYTRT SURTH

Question Number : 294 Question Id : 59445942511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which condition, motor planning is challenging and there is a struggle to perform fluid, smooth movements with finesse and control?
Options :

1. # Dyslexia

2. ¥ Dyspraxia



3. % Dyscalculia
4. ¥ Dysgraphia

Question Number : 294 Question Id : 59445942511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg fRufa &, Airex e gyl § 3R sierer 3R Fesr & ary ifRR, Fere il 3 & forg Jof e usar 82
Options :

1. # 3UUc-

2. ¢ feTaRmn

3. % fghempferan

4. % fSaEnftear

Question Number : 295 Question Id : 59445942512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and select appropriate options regarding their truthfulness:

Statement I - Ideomotor dyspraxia: Makes it hard to complete single-step motor tasks such as combing hair and waving goodbye.
Statement II - Ideational dyspraxia: Makes it more difficult to perform a sequence of movements, like brushing teeth or making a bed.

Options :

1. ¥ Both Statements are True
2. # Both Statements are False
3. ¥ Only Statement I is True
4. % Only Statement II is True

Question Number : 295 Question Id : 59445942512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed Hy=t o1 ufey iR 3@ Tadl & Sae H Iuged [adwed! &1 99+ Hifoid:

HY 1 - SFSAHICR STIRTT: TTA! H &8} B 3R BT TG oI Thdl-aR0T HIex BT Dl T HAT B ST 6|
HYT 11 - TS ST STITRISA : T T B T SR §H S a1 B 3IehH Bl BT AP Hio- ST g |




Options :

. ¢ Sl YT I8
2. % GHI HYT 3T 8
3. % HAAHYT 1 II B
4. % HIAPYT 1 II g

Question Number : 296 Question Id : 59445942513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Abraham Maslow's Hierarchical theory, when physiological needs are satisfied then what becomes the dominant force in life?
Options :

1. % Self-Actualisation Needs

2. % Esteem Needs

3. % Belongingness Needs

4. ¢ Safety Needs

Question Number : 296 Question Id : 59445942513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SISTEH UGl & U id RIgid H, S1d IRIR® SRexd TR 81 Sl g al i siia- § U Wfad 99 St 82
Options :

1. % ITH-IRAAHIHRUT ST D ]

2. % §31gWY

3. % ddl B AagHANd

4, « Y& A hdl

Question Number : 297 Question Id : 59445942514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the individual gets albinism from one parent and normal colouring from another, he will be called
Options :



1. # Haemophilia
2. % Homozygous
3. ¥ Heterozygous
4. ¥ Hernophilis

Question Number : 297 Question Id : 59445942514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i afaa BT ATI-fUd & WIeHar $iR 3 9 9 1 e g, d 39 HET ST
Options :

1. % g™

2. % GHGHS (AT

3. ¢ fAYgSt (g CRISATI)

4. % gAMBIE

Question Number : 298 Question Id : 59445942515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the term used to describe a set of behaviours that are both unlearned and set in motion as the result of some environmental trigger.
Options :

1. # Attention

2. ¥ Instinct

3. % Intelligence

4. % Interest

Question Number : 298 Question Id : 59445942515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % &
2.« WA

3. % gfa
4. % &g

Question Number : 299 Question Id : 59445942516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following simply means silent, motionless figures that people create with their bodies to represent a scene, theme, or abstract idea,
or an important moment in a narrative?

Options :

1. ¥ Tableaux

2. # Pantomine

3. % Starters

4. % Building blocks

Question Number : 299 Question Id : 59445942516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Csdlled

2. % Yomgd

3. ¥ 3RYD

4. % fgiorEs

Question Number : 300 Question Id : 59445942517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As far as the experience is concerned, which technique is similar to spotlighting in linear approach to drama?
Options :



1. # Side coaching
2. # Story-telling
3. # Improvisation
4. % Sharing

Question Number : 300 Question Id : 59445942517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HIgS DI

2. % HYTHIR

3. ® JRRIHAI

4, « I hAT



